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XML

<{?xml version="1.0" encoding="UTF-8"7>
<MCCI_IN200100UVO1 ITSVersion="XML_1.0” xsi:schemaLocation="urn:hl7-org:v3 MCCI_IN200100UVO1. xsd” xmlns="urn:hl7-org:v3” xmlns:xsi="http://www. w3. org/
2001/XMLSchema—instance”>
<id extension="N.1.2” root="2.16.840. 1. 113883. 3. 989. 2. 1. 3. 22"/>
<{!-= N.1.2: Batch Number —>
{creationTime value="20101214151617"/>
<!-= N.1.5: Date of Batch Transmission —>
<{responseModeCode code="D"/>
{interactionld extension="MCCI_IN200100UV01” root="2.16.840. 1. 113883.1.6"/>
<name code="N.1.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.17/>
<]== N.1.1: Type of Messages in Batch —>
<{l—— Message #1 —>
<PORR_IN049016UV>
<id extension="N.2.1.1” root="2.16.840. 1. 113883.3.989.2.1.3.17/>
<I=——N.2.r.1: Message Identifier —>
{creationTime value="20101214151617"/>
{I==N.2.1.4: Date of Message Creation —>
{interactionld extension="PORR_IN049016UV” root="2.16.840.1.113883.1.6"/>
{processingCode code="P"/>
{processingModeCode code="T"/>
CacceptAckCode code="AL"/>
{receiver typeCode="RCV”">
{device classCode="DEV” determinerCode="INSTANCE”>
<id extension="N.2.r.3” root="2.16.840. 1. 113883.3.989. 2. 1. 3. 12"/>
{I—— N.2.1.3: Message Receiver Identifier —>
<{/device>
{/receiver>
{sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.2.r.2” root="2.16.840. 1. 113883.3.989.2.1.3.11"/>
{]-=N.2.r1.2: Message Sender Identifier —>
<{/device>
{/sender>
{controlActProcess classCode="CACT” moodCode="EVN">
<code code="PORR_TE049016UV” codeSystem="2. 16. 840. 1. 113883. 1. 18" />
|- HL7 Trigger Event ID ——>
{effectiveTime value="20101214151617"/>
¢!— C.1.2: Date of Creation ——>
{subject typeCode="SUBJ”>
{investigationEvent classCode="INVSTG” moodCode="EVN">
<id extension="C.1.1” root="2.16.840.1.113883.3.989.2.1.3.17/>
¢{]-= C.1.1: Sender’s (case) Safety Report Unique Identifier ——>
<id extension="C.1.8.1” root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
{l--= C.1.8.1: Worldwide Unique Case Identification Number ——>
<id extension="J2.1b” root="2.16.840.1.113883.3.989.5.1.3.2.3.1"/>
<I-—@00J2. 1b: #WHIFS GEe) —>
<code code="PAT_ADV_EVNT” codeSystem="2. 16.840. 1. 113883.5.4"/>
{textoH. 1</ text>
{l-= H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant Information ——>
{statusCode code="active”/>
<1-—000J2.7.1 58T, RFETKHS —>
{effectiveTime>
<{low value="20090101"/>
<{!-= C.1.4: Date Report Was First Received from Source ——>
{/effectiveTime>
<availabilityTime value="20090101"/>
{l-= C.1.5: Date of Most Recent Information for This Report ——>
<reference typeCode="REFR”>
{document classCode="DOC” moodCode="EVN">
<code code="1" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 27" displayName="documentsHeldBySender”/>
<title>C. 1.6. L.r. I</title>
{]-= C.1.6.1.r.1: Documents Held by Sender (repeat as necessary) #1 ——>
<{text mediaType="application/pdf” representation="B64”>C.1.6.1.r.2{/text>
{]-= C.1.6.1.1.2: Included Documents #1 —>
</document>
{/reference>
{reference typeCode="REFR”>
<document classCode="DOC” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 27” displayName="documentsHeldBySender”/>
<{title>C. 1.6. L.r. I</title>
<!== C.1.6.1.1.1: Documents Held by Sender (repeat as necessary) #2 —>
<{text mediaType="image/jpeg” representation="B64” compression="DF”>C.1.6.1.r.2<{/text>
{I-= C.1.6.1.1.2: Included Documents #2 ——>
</document>
{/reference>
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<reference typeCode="REFR”>
{document classCode="DOC” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 27" displayName="1literatureReference”/>
<title>J2.17. r</title>
<1-- @e@J2. 17. v Bk WIZED /M #1 —>
{text mediaType="application/pdf” representation="B64">C.4.r.2<{/text>
{]== C.4.r.2: Included Documents #1 ——>
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
{I=— C.4.7r.1: Literature Reference(s) #1 —>
{participation typeCode="AUT”>
CassignedEntity classCode="ASSIGNED”>
<{representedOrganization classCode="0ORG” determinerCode="INSTANCE”>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="TNSTANCE”>
<code code="]J2.15.1” codeSystem="1.0.3166.1.2.2"/>
<I-- @@0J2.15. v AFKE #1 —>
{/location>
</asLocatedEntity>
</representedOrganization>
{/assignedEntity>
{/participation>
</document>
{/reference>
(reference typeCode="REFR”>
{document classCode="DOC” moodCode="EVN">
<{code code="2" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.27” displayName="1iteratureReference”/>
<title>J2.17. r</title>
<1— 000J2.17. r RRER WITED 3K #2 —>
{(text mediaType="application/pdf” representation="B64">C.4.r.2<{/text>
<!== C.4.r.2: Included Documents #2 ——>
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
{I=— C.4.7r.1: Literature Reference(s) #2 —>
{participation typeCode="AUT">
CassignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="TNSTANCE”>
<code code="J2.15.1” codeSystem="1.0.3166.1.2.2"/>
<1 @@0J2. 15. v AFK[E #2 —>
{/location>
<{/asLocatedEntity>
</representedOrganization>
{/assignedEntity>
</participation>
</document>
{/reference>
<component typeCode="COMP”>
{adverseEventAssessment classCode="INVSTG” moodCode="EVN">
<{subjectl typeCode="SBJ”>
{primaryRole classCode="INVSBJ”>
<{playerl classCode="PSN” determinerCode="INSTANCE”>
<name>D. 1</name>
<!==D.1: Patient (name or initials) ——>
<administrativeGenderCode code="D.5” codeSystem="1.0.5218”"/>
<1==D.5 Sex ——>
<birthTime value="20090101"/>
<!-=D.2.1: Date of Birth ——>
<deceasedTime value="20090101"/>
<!==D.9.1: Date of Death —>
<asldentifiedEntity classCode="IDENT”>
<id extension="D.1.1.1” root="2.16.840. 1. 113883.3.989.2.1.3.7"/>
<!-=D.1.1.1: Patient Medical Record Number(s) and Source(s) of the Record Number (GP Medical Record Number) -—>
<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1.4” displayName="GP"/>
<{/asldentifiedEntity>
<asldentifiedEntity classCode="IDENT”>
<id extension="D.1.1.2” root="2.16.840. 1. 113883.3.989.2.1.3.8”"/>
<!=——D.1.1.2: Patient Medical Record Number(s) and Source(s) of the Record Number (Specialist Record Number) ——>
<code code="2" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1.4” displayName="Specialist”/>
<{/asldentifiedEntity>
<asldentifiedEntity classCode="IDENT”>
<id extension="D.1.1.3” root="2.16.840. 1. 113883.3.989.2.1.3.9"/>
<!=——D.1.1.3: Patient Medical Record Number(s) and Source(s) of the Record Number (Hospital Record Number) ——>
<code code="3" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1.4” displayName="Hospital Record”/>
<{/asldentifiedEntity>
<asldentifiedEntity classCode="IDENT”>



<id extension="D.1.1.4” root="2.16.840.1. 113883.3.989. 2. 1.3.10"/>
<!=——D.1.1.4: Patient Medical Record Number(s) and Source(s) of the Record Number (Investigation Number) ——>
<code code="4" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1.4” displayName="Investigation”/>
{/asldentifiedEntity>
<role classCode="PRS”>
{code code="PRN” codeSystem="2.16.840. 1. 113883.5.111"/>
<associatedPerson classCode="PSN” determinerCode="INSTANCE”>
<name>D. 10. 1</name>
<!==D.10.1: Parent Identification —>
<{administrativeGenderCode code="D. 10.6” codeSystem="1.0.5218"/>
<!-=D.10.6: Sex of Parent ——>
<birthTime value="20090101"/>
<!=='D.10.2.1: Date of Birth of Parent ——>
{/associatedPerson>
{subjectOf2 typeCode="SB]”>
<observation classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” displayName="age”/>
<value xsi:type="PQ” value="10" unit="D. 10.2.2b"/>
<1-=D.10.2.2a: Age of Parent (number) ——>
<!-=D.10.2.2b: Age of Parent (unit) —>
</observation>
{/subject0f2>
{subjectOf2 typeCode="SB]”>
<observation classCode="0BS” moodCode="EVN">
<code code="22" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="1astMenstrualPeriodDate”/>
<value xsi:type="TS” value="20090101"/>
<{!-=D.10.3: Last Menstrual Period Date of Parent —>
<{/observation>
{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<observation classCode="0BS” moodCode="EVN">
{code code="7" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” displayName="bodyWeight”/>
<value xsi:type="PQ” value="50" unit="kg”/>
<{!==D.10.4: Body Weight (kg) of Parent —>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBJ”>
<observation classCode="0BS” moodCode="EVN">
<{code code="17" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.19” displayName="height”/>
{value xsi:type="PQ” value="160" unit="cm”/>
<!-——D.10.5: Height (cm) of Parent —>
{/observation>
{/subject0f2>
{subjectOf2 typeCode="SB]”>
<organizer classCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 20” displayName="relevantMedicalHistoryAndConcurrentConditions”/>
<component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="D. 10.7.1.1.1b” codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="D. 10.7.1.r.1a”/>
<]==D.10.7.1.r.1a: MedDRA Version for Medical History #1 —>
<I=——D.10.7. 1. 1. 1b: Medical History (disease / surgical procedure/ etc.) (MedDRA code) #1 ——>
{effectiveTime xsi:type="IVL_TS”>
<low value="20090101"/>
<!-=D.10.7.1.r.2: Start Date #1 —>
<high value="20090101"/>
<!-—D.10.7.1.r.4: End Date #1 —>
{/effectiveTime>
<outboundRelationship2 typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED”>D.10.7.1.r.5</value>
<l-=D.10.7.1.r.5: Comments #1 —>
{/observation>
</outboundRelationship2>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
{code code="13" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.19” displayName="continuing”/>
<value xsi:type="BL” value="true”/>
<!-=D.10.7.1.r.3: Continuing #1 ——>
</observation>
</inboundRelationship>
<{/observation>
{/component>
<{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">



<code code="D.10.7.1.1.1b” codeSystem="2.16.840. 1. 113883. 6. 163” codeSystemVersion="D.10.7.1.r.1a"/>
<I=——D.10.7.1. 1. la: MedDRA Version for Medical History #2 —>
<!==D.10.7. 1. r. 1b: Medical History (disease / surgical procedure/ etc.) (MedDRA code) #2 ——>
(effectiveTime xsi:type="IVL_TS”>
<low value="20090101"/>
<!-=D.10.7.1.r.2: Start Date #2 ——>
<high value="20090101"/>
<!-=D.10.7.1.r.4: End Date #2 -—>
{/effectiveTime>
<outboundRelationship2 typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED”>D.10.7.1.r.5¢/value>
<!==D.10.7.1.r.5: Comments #2 ——>
<{/observation>
</outboundRelationship2>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
<code code="13" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="continuing”/>
<value xsi:type="BL” value="true”/>
<¢!-=D.10.7.1.r.3: Continuing #2 —>
{/observation>
</inboundRelationship>
{/observation>
</component>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
{code code="18" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="historyAndConcurrentConditionText”/>
<value xsi:type="ED”>D. 10.7.2</value>
<!==D.10.7.2: Text for Relevant Medical History and Concurrent Conditions of Parent ——>
{/observation>
<{/component>
<{/organizer>
{/subject0f2>
<subjectOf2 typeCode="SBJ”>
<organizer classCode="CATEGORY” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 20" displayName="drugHistory”/>
<{component typeCode="COMP”>
{substanceAdministration classCode="SBADM” moodCode="EVN">
(effectiveTime xsi:type="IVL_TS”>
<low value="20090101"/>
<!-=D.10.8.r.4: Start Date #1 ——>
<high value="20090101"/>
<!-=D.10.8.r.5: End Date #1 ——>
{/effectiveTime>
{consumable typeCode="CSM”>
{instanceOfKind classCode="INST”>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="D. 10.8.r.2b” codeSystem="TBD-MPID” codeSystemVersion="D. 10.8.r.2a”/>
<!-=D.10.8.r.2a: MPID Version Date / Number #1 ——>
<!=—=D.10.8.1.2b: Medicinal Product Identifier (MPID) #1 —>
<name>D. 10. 8. r. 1</name>
<]=—=D.10.8.r.1: Name of Drug as Reported #1 —>
</kindOfProduct>
{/instanceOfKind>
<{/consumable>
<outboundRelationship2 typeCode="RSON”>
{observation classCode="0BS” moodCode="EVN">
<code code="19” codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="indication”/>
<value xsi:type="CE” code="D. 10.8.r.6b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D. 10.8.r.6a"/>
<!-==D.10.8.r.6a: MedDRA Version for Indication #1 ——>
<l-=D.10.8.r.6b: Indication (MedDRA code) #1 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="CAUS”>
{observation classCode="0BS” moodCode="EVN">
{code code="29” codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.19” displayName="reaction”/>
<value xsi:type="CE” code="D.10.8.r.7b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D. 10.8.r.7a”/>
<l——D.10.8.r.7a: MedDRA Version for Reaction #1 ——>
{!-—D.10.8.r.7b: Reactions (MedDRA code) #1 ——>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
</component>
<component typeCode="COMP”>



{substanceAdministration classCode="SBADM” moodCode="EVN">
{effectiveTime xsi:type="IVL_TS”>
<low value="20090101"/>
<{I-=D.10.8.1.4: Start Date #2 —>
<high value="20090101"/>
<!-=D.10.8.r.5: End Date #2 ——>
<{/effectiveTime>
{consumable typeCode="CSM”>
<instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="D. 10.8.1.3b” codeSystem="TBD-PhPID” codeSystemVersion="D. 10.8.r.3a”/>
<!==D.10.8.r.3a: PhPID Version Date / Number #2 ——>
<!-=D.10.8.r.3b: Pharmaceutical Product Identifier (PhPID) #2 ——>
<name>D. 10. 8. r. 1</name>
<!-==D.10.8.r.1: Name of Drug as Reported #2 ——>
</kindOfProduct>
</instanceOfKind>
</consumable>
<outboundRelationship2 typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="indication”/>
<value xsi:type="CE” code="D. 10.8.r.6b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D. 10.8.r.6a”"/>
<l-=D.10.8.r.6a: MedDRA Version for Indication #2 -—>
¢!-=D.10.8.1.6b: Indication (MedDRA code) #2 ——>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="CAUS”>
<observation classCode="0BS” moodCode="EVN">
{code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reaction”/>
<value xsi:type="CE” code="D.10.8.r.7b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D. 10.8.r.7a”/>
<l-=D.10.8.r.7a: MedDRA Version for Reaction #2 ——>
<{!-=D.10.8.1.7b: Reactions (MedDRA code) #2 ——>
<{/observation>
</outboundRelationship2>
{/substanceAdministration>
</component>
{/organizer>
{/subject0f2>
<{/role>
<{/playerl>
<{subjectOf1 typeCode="SBJ”>
{researchStudy classCode="CLNTRL” moodCode="EVN">
<id extension="C.5.3” root="2.16.840.1.113883.3.989.2.1.3.5"/>
<{l-= (.5.3: Sponsor Study Number ——>
<code code="C.5.4” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.8"/>
(- C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed —>
{title>C. 5. 2</title>
{]— C.5.2: Study Name —>
<authorization typeCode="AUTH”>
<studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.r.1” root="2.16.840. 1. 113883.3.989.2.1.3.6"/>
{!-= C.5.1.r.1: Study Registration Number #1 ——>
<author typeCode="AUT”>
{territorialAuthority classCode="TERR”>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<{code code="C.5.1.1.2” codeSystem="1.0.3166. 1.2.2"/>
(l-= C.5.1.r.2: Study Registration Country #1 ——>
</governingPlace>
{/territorialAuthority>
{/author>
</studyRegistration>
{/authorization>
<authorization typeCode="AUTH”>
{studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.r.1” root="2.16.840. 1. 113883. 3.989.2.1.3.6"/>
<= C.5.1.r.1 Study Registration Number #2 —>
<author typeCode="AUT”>
{territorialAuthority classCode="TERR”>
<{governingPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="C.5.1.1.2” codeSystem="1.0.3166. 1.2.2"/>
<l— C.5.1.1r.2: Study Registration Country #2 —>
<{/governingPlace>
{/territorialAuthority>
<{/author>
</studyRegistration>



{/authorization>
<{/researchStudy>
</subjectOf1>
{subjectOf2 typeCode="SBJ”>
<observation classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="age”/>
<{value xsi:type="PQ” value="10" unit="D.2.2b"/>
{!-—D.2.2a: Age at Time of Onset of Reaction / Event (number) ——>
<l——D.2.2b: Age at Time of Onset of Reaction / Event (unit) ——>
<{/observation>
</subject0f2>
<{subjectOf2 typeCode="SB]”>
<observation classCode="0BS” moodCode="EVN">
<code code="16" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="D.2.2.1b"/>
(l-=D.2.2.1a: Gestation Period When Reaction / Event Was Observed in the Foetus (number) ——>
{!==D.2.2.1b: Gestation Period When Reaction / Event Was Observed in the Foetus (unit) ——>
</observation>
</subject0f2>
<{subjectOf2 typeCode="SBJ”>
{observation classCode="0BS” moodCode="EVN">
{code code="4" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="ageGroup”/>
<value xsi:type="CE” code="D.2.3” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.9”/>
<(!-=D.2.3: Patient Age Group (as per reporter) ——>
<{/observation>
<{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<observation classCode="0BS” moodCode="EVN">
<code code="7" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="bodyWeight”/>
{value xsi:type="PQ” value="48.2” unit="kg”/>
<l-=D.3: Body Weight (kg) ——>
</observation>
<{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<observation classCode="0BS” moodCode="EVN">
{code code="17" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.19” displayName="height”/>
<value xsi:type="PQ” value="152" unit="cm”/>
<!=—D.4: Height (cm) —>
</observation>
</subject0f2>
<{subjectOf2 typeCode="SB]”>
{observation classCode="0BS” moodCode="EVN">
{code code="22" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” displayName="1astMenstrualPeriodDate”/>
<value xsi:type="TS” value="20090101"/>
{!-=D.6: Last Menstrual Period Date ——>
<{/observation>
</subject0f2>
{subjectOf2 typeCode="SBJ”>
<organizer classCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 20” displayName="relevantMedicalHistoryAndConcurrentConditions”/>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="D.7.1.r.1b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D.7.1.r.1a”/>
<I-——D.7.1.r.1a: MedDRA Version for Medical History #1 ——>
<l-=D.7.1.1r. 1b: Medical History (disease / surgical procedure / etc.) (MedDRA code) #1 ——>
<{effectiveTime xsi:type="IVL_TS”>
{low value="20090101"/>
<I=—=D.7.1.r.2: Start Date #1 —>
<high value="20090101"/>
I==D.7.1.r.4: End Date #1 ——>
</effectiveTime>
<outboundRelationship2 typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED”>D.7.1.r.5¢/value>
== D.7.1.r.5: Comments #1 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="EXPL”>
<observation classCode="0BS” moodCode="EVN">
<code code="38" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="familyHistory”/>
<value xsi:type="BL” value="true”/>
<{!-=D.7.1.r.6: Family History #1 —>
<{/observation>
</outboundRelationship2>



<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
<code code="13" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="continuing”/>
<value xsi:type="BL” value="true”/>
<!==D.7.1.r.3: Continuing #1 —>
{/observation>
</inboundRelationship>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="D.7.1.r.1b” codeSystem="2.16. 840. 1. 113883. 6. 163” codeSystemVersion="D.7.1.r.1a”/>
<I-——=D.7.1.r.1a: MedDRA Version for Medical History #2 ——>
<= D.7.1.r.1b: Medical history (disease / surgical procedure / etc.) (MedDRA code) #2 —>
<{effectiveTime xsi:type="IVL_TS”>
<low value="20090101"/>
<I=—=D.7.1.r.2: Start Date #2 —>
<high value="20090101"/>
!-=D.7.1.r.4: End Date #2 ——>
<{/effectiveTime>
<outboundRelationship2 typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.19” displayName="comment”/>
<value xsi:type="ED”>D.7.1.r.5¢/value>
<]==D.7.1.r.5: Comments #2 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="EXPL”>
{observation classCode="0BS” moodCode="EVN">
<code code="38" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="familyHistory”/>
<value xsi:type="BL” value="true”/>
<= D.7.1.r.6: Family History #2 —>
{/observation>
{/outboundRelationship2>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
<code code="13" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="continuing”/>
<value xsi:type="BL” value="true”/>
<!==D.7.1.r.3: Continuing #2 ——>
{/observation>
</inboundRelationship>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<{code code="18" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="historyAndConcurrentConditionText”/>
<value xsi:type="ED”>D.7.2</value>
<= D.7.2: Text for Relevant Medical History and Concurrent Conditions (not including reaction / event) —>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="concomitantTherapy”/>
<value xsi:type="BL” value="true”/>
<{!-=D.7.3: Concomitant Therapies ——>
<{/observation>
</component>
</organizer>
<{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<organizer classCode="CATEGORY” moodCode="EVN">
{code code="2" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.20” displayName="drugHistory”/>
<component typeCode="COMP”>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<effectiveTime xsi:type="IVL_TS”>
{low value="20090101"/>
<(!-=D.8.r.4: Start Date #1 ——>
<high value="20090101"/>
<!— D.8.r.5: End Date #1 —>
<{/effectiveTime>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="D.8.r.2b” codeSystem="TBD-MPID” codeSystemVersion="D.8.r.2a"/>
<!-=D.8.r.2a: MPID Version Date / Number #1 —>



<{!-=D.8.1.2b: Medicinal Product Identifier (MPID) #1 ——>
<name>D. 8. r. 1{/name>
<{!==D.8.r.1: Name of Drug as Reported #1 ——>
</kindOfProduct>
</instanceOfKind>
{/consumable>
<outboundRelationship2 typeCode="RSON”>
<observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="indication”/>
<value xsi:type="CE” code="D.8.r.6b” codeSystem="2.16.840.1.113883.6. 163" codeSystemVersion="D. 8. r.6a”/>
<!-=D.8.r.6a: MedDRA Version for Indication #1 ——>
<! D.8.r.6b: Indication (MedDRA code) #1 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="CAUS”>
{observation classCode="0BS” moodCode="EVN">
<code code="29" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="reaction”/>
<value xsi:type="CE” code="D.8.r.7b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D.8.r.7a”/>
<!-=D.8.r.7a: MedDRA Version for Reaction #1 ——>
<!——D.8.r.7b: Reaction (MedDRA code) #1 —>
{/observation>
</outboundRelationship2>
</substanceAdministration>
</component>
{component typeCode="COMP”>
{substanceAdministration classCode="SBADM” moodCode="EVN">
(effectiveTime xsi:type="IVL_TS”>
<low value="20090101"/>
<(!-=D.8.r.4: Start Date #2 ——>
<high value="20090101"/>
<l-=D.8.r.5: End Date #2 ——>
</effectiveTime>
{consumable typeCode="CSM”>
{instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="D.8.r.3b” codeSystem="TBD-PhPID” codeSystemVersion="D.8.r.3a”/>
<!-=D.8.r.3a: PhPID Version Date / Number ——>
<!-== D.8.r.3b: Pharmaceutical Product Identifier (PhPID) #2 ——>
<name>D. 8. r. 1</name>
<{!==D.8.r.1: Name of Drug as Reported #2 —>
</kindOfProduct>
{/instanceOfKind>
<{/consumable>
<outboundRelationship2 typeCode="RSON”>
<observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="indication”/>
<value xsi:type="CE” code="D.8.r.6b” codeSystem="2.16.840.1.113883.6. 163" codeSystemVersion="D. 8. r.6a"/>
<!-=D.8.1.6a: MedDRA Version for Indication #2 ——>
<!--= D.8.r.6b: Indication (MedDRA code) #2 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="CAUS”>
{observation classCode="0BS” moodCode="EVN">
{code code="29" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” displayName="reaction”/>
<value xsi:type="CE” code="D.8.r.7b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D.8.r.7a”/>
(= D.8.r.7a: MedDRA Version for Reaction #2 —>
<!-= D.8.r.7b: Reaction (MedDRA code) #2 ——>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
</component>
<{/organizer>
</subject0f2>
<{subjectOf2 typeCode="SB]”>
{observation classCode="0BS” moodCode="EVN">
<code code="32" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reportedCauseOfDeath”/>
<value xsi:type="CE” code="D.9.2.r.1b” codeSystem="2.16.840. 1. 113883.6. 163" codeSystemVersion="D.9.2.r. la”>
<!-=D.9.2.1.1la: MedDRA Version for Reported Cause(s) of Death #1 -—>
<!=—D.9.2.7r.1b: Reported Cause(s) of Death (MedDRA code) #1 ——>
<originalText>D. 9. 2. r.2<{/original Text>
<]=—D.9.2.1.2: Reported Cause(s) of Death (free text) #1 —>
<{/value>
{/observation>
<{/subject0f2>
{subjectOf2 typeCode="SB]”>



<observation classCode="0BS” moodCode="EVN">
{code code="32" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reportedCauseOfDeath”/>
<value xsi:type="CE” code="D.9.2.r.1b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D.9.2.r. la”>
<1==D.9.2.1.1a: MedDRA Version for Reported Cause(s) of Death #2 ——>
<!=—=D.9.2.r.1b: Reported Cause(s) of Death (MedDRA code) #2 ——>
<originalText>D. 9. 2. r.2</originalText>
<I=——D.9.2.1.2: Reported Cause(s) of Death (free text) #2 —>
</value>
</observation>
<{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<observation classCode="0BS” moodCode="EVN">
{code code="5" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” displayName="autopsy”/>
<value xsi:type="BL” value="true”/>
<!-—D.9.3 Was Autopsy Done? ——>
<outboundRelationship2 typeCode="DRIV”>
<observation classCode="0BS” moodCode="EVN">
<{code code="8" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="causeOfDeath”/>
<value xsi:type="CE” code="D.9.4.r.1b” codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="D. 9. 4.r. la”>
<!=——D.9.4.r.1a: MedDRA Version for Autopsy-determined Cause(s) of Death #1 ——>
<]==D.9.4.r.1b Autopsy-determined Cause(s) of Death (MedDRA code) #1 ——>
<originalText>D.9.4.r.2</originalText>
<1-=D.9.4.r.2: Autopsy-determined Cause(s) of Death (free text) #l ——>
{/value>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="DRIV”>
<observation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="causeOfDeath”/>
<value xsi:type="CE” code="D.9.4.r.1b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D.9.4.r.1a”>
<!-—D.9.4.r. la: MedDRA Version for Autopsy-determined Cause(s) of Death #2 ——>
<]=—=D.9.4.r.1b Autopsy—determined Cause(s) of Death (MedDRA code) #2 —>
<originalText>D.9.4.r.2</originalText>
<1-=D.9.4.1.2: Autopsy-determined Cause(s) of Death (free text) #2 ——>
</value>
{/observation>
</outboundRelationship2>
<{/observation>
<{/subject0f2>
<subjectOf2 typeCode="SBJ”>
<observation classCode="0BS” moodCode="EVN">
<id root="154eb889-958h-45f2-a02f-42d4d6f4657f" />
{code code="29" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS”>
<{low value="20090101"/>
{!——= E.1i.4: Date of Start of Reaction / Event #1 —>
<high value="20090102"/>
<!-= E.i.5: Date of End of Reaction / Event #1 ——>
{/effectiveTime>
<value xsi:type="CE” code="E.i.2.1b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="E.i. 2. la”>
{!—— E.1i.2.1a: MedDRA Version for Reaction / Event #1 —>
¢!-— E.i.2.1b: Reaction / Event (MedDRA code) #1 ——>
<originalText language="E.i.1.1b”>E.i. 1. 1a<{/originalText>
<{!-—= E.i.1.la: Reaction / Event as Reported by the Primary Source in Native Language #1 ——>
¢!-— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #1 ——>
<{/value>
<location typeCode="LOC">
<locatedEntity classCode="LOCE”>
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
(= E.i.9: Identification of the Country Where the Reaction / Event Occurred #1 ——>
</locatedPlace>
</locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<{code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reactionForTranslation”/>
<value xsi:type="ED”>E.1i.1.2</value>
{!—— E.1i.1.2: Reaction / Event as Reported by the Primary Source for Translation #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 10”/>



<l— E.i.3.1: Term Highlighted by the Reporter #1 —>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2.16. 840. 1. 113883. 3.989.2. 1. 1.
<value xsi:type="BL” value="true”/>
<]-= E.i.3.2a: Results in Death #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<{code code="21" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.
<value xsi:type="BL” nullFlavor="NI1"/>
<!-— E.i.3.2b: Life Threatening #1 ——>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.
<value xsi:type="BL” value="true”/>
<l— E.i.3.2c: Caused / Prolonged Hospitalisation #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.
<value xsi:type="BL” nullFlavor="N1"/>
¢(!-= E.i.3.2d: Disabling / Incapacitating #1-—>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2.16. 840. 1. 113883. 3.989.2. 1. 1.
<value xsi:type="BL” nullFlavor="NI1"/>
<{!-— E.1i.3.2e: Congenital Anomaly / Birth Defect #1 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.
<value xsi:type="BL” value="true”/>
{!—— E.1i.3.2f: Other Medically Important Condition #1 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

19”

19”

19”

19”

19”

19”

displayName="resultsInDeath”/>

displayName="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalAnomalyBirthDefect”/>

displayName="otherMedical lyImportantCondition”/>

<code code="27" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.117/>
{!-= E.i.7: Outcome of Reaction / Event at the Time of Last Observation #1 ——>

<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="24" codeSystem="2.16. 840. 1. 113883.3.989.2. 1. 1.19” displayName="medicalConfirmationByHealthProfessional”/>

<value xsi:type="BL” value="true”/>

<{!-— E.1i.8: Medical Confirmation by Healthcare Professional #1 ——>

{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN”">

<{code code="11" codeSystem="2. 16.840. 1. 113883. 3.989. 5. 1.3.2.1.10” displayName="A%1 « BEZ1"/>
<value xsi:type="CE” code="J2.14.1” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.8"/>

<1— 000J2. 14. 1 RHE0 - BEFN #1 —>
</observation>
</outboundRelationship2>
</observation>
</subject0f2>
<{subjectOf2 typeCode="SB]”>
<observation classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220”" />

{code code="29" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="reaction”/>

CeffectiveTime xsi:type="IVL_TS”>
<low value="20090101"/>
<{l-= E.i.4: Date of Start of Reaction / Event #2 ——>
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<width value="24" unit="E.i.6b"/>

<{!-— E.1i.6a: Duration of Reaction / Event (number) #2 ——>
<!-= E.1i.6b: Duration of Reaction / Event (unit) #2 ——>

{/effectiveTime>

<value xsi:type="CE” code="E.i.2.1b” codeSystem="2. 16.840. 1. 113883.6. 163" codeSystemVersion="E.1i.2.1a”>

<!-= E.i.2.1a: MedDRA Version for Reaction / Event #2 ——>

<!—— E.1i.2.1b: Reaction / Event (MedDRA code) #2 ——>

<originalText language="E.i.1l.1b”>E.1i. 1. la{/originalText>

¢!—— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #2 ——>
<!—— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #2 ——>

{/value>
<location typeCode="L0C">
<locatedEntity classCode="LOCE”>

<{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<{code code="E.i.9” codeSystem="1.0.3166.1.2.27/>
¢l-— E.i.9: Identification of the Country Where the Reaction / Event Occurred #2 ——>

</locatedPlace>
</locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="30" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reactionForTranslation”/>

<value xsi:type="ED”>E.i. 1.2</value>

<]-— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #2 —>

<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="37" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840. 1. 113883. 3.989.2.1. 1. 10”/>
<!—— E.1i.3.1:Term Highlighted by the Reporter #2 ——>

{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<{code code="34" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.

<value xsi:type="BL” value="true”/>
<!-— E.i.3.2a: Results in Death #2 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="21" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.

<value xsi:type="BL” nullFlavor="NI"/>
<l— E.i.3.2b: Life Threatening #2 —>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="33" codeSystem="2.16. 840. 1. 113883. 3.989.2. 1. 1.

<value xsi:type="BL” value="true”/>

{!-= E.i.3.2c: Caused / Prolonged Hospitalisation #2 ——>

{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<{code code="35" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.

<value xsi:type="BL” nullFlavor="NI1"/>

{!—— E.1i.3.2d: Disabling / Incapacitating #2 —>

</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="12" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.

<value xsi:type="BL” nullFlavor="NI1"/>

<l— E.i.3.2e: Congenital Anomaly / Birth Defect #2 —>

{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="26" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.

<value xsi:type="BL” value="true”/>

{!== E.i.3.2f: Other Medically Important Condition #2 ——>

<{/observation>
</outboundRelationship2>
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19”

19”

19”

19”

19”

19”

displayName="resultsInDeath”/>

displayName="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalAnomalyBirthDefect”/>

displayName="otherMedicallyImportantCondition”/>



<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2.16.840.1.113883.3.989.2.1.1.11"7/>
<]-= E.i.7: Outcome of Reaction / Event at the Time of Last Observation #2 ——>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>
<{!—— E.1i.8: Medical Confirmation by Healthcare Professional #2 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16.840. 1. 113883.3.989. 5. 1.3.2. 1. 10” displayName="A%1 « BE&"/>
<value xsi:type="CE” code="J2.14.1” codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.8"/>
<l-- @@@J2. 14. 1 A0 - BEMN #2 ——>
<{/observation>
</outboundRelationship2>
</observation>
<{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<observation classCode="0BS” moodCode="EVN">
{id root="3a8626cb-9f1b-4ea8-8a0f-e0ff34430adf” />
{code code="29" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” displayName="reaction”/>
(effectiveTime xsi:type="IVL_TS”>
<width value="24" unit="E.i.6b"/>
<!-= E.i.6a: Duration of Reaction / Event (number) #3 ——>
{!—— E.1i.6b: Duration of Reaction / Event (unit) #3 ——>
<high value="20101201"/>
<!-—— E.1i.5: Date of End of Reaction / Event #3 —>
{/effectiveTime>
<value xsi:type="CE” code="E.i.2.1b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="E. i.2.1la”>
<!-= E.i.2.1a: MedDRA Version for Reaction / Event #3 ——>
¢!-— E.i.2.1b: Reaction / Event (MedDRA code) #3 ——>
<originalText language="E.i.1.1b”>E.i.1.1a</originalText>
<{!-—= E.i.1.la: Reaction / Event as Reported by the Primary Source in Native Language #3 ——>
<]=— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #3 —>
<{/value>
{location typeCode="LOC">
<{locatedEntity classCode="LOCE”>
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
¢!—— E.i.9: Identification of the Country Where the Reaction / Event Occurred #3 ——>
{/locatedPlace>
</locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reactionForTranslation”/>
<value xsi:type="ED">E.1i.1.2</value>
<!-= E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #3 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.10"/>
<l— E.i.3.1:Term Highlighted by the Reporter #3 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="resultsInDeath”/>
<value xsi:type="BL” value="true”/>
{!-- E.i.3.2a: Results in Death #3 ——>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1. 19” displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="N1"/>
<|-= E.i.3.2b: Life Threatening #3 ——>
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{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<{code code="33" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL” value="true”/>
<{!—— E.1i.3.2c: Caused / Prolonged Hospitalisation #3 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL” nullFlavor="NI"/>
<l— E.i.3.2d: Disabling / Incapacitating #3 —>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1. 19” displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlavor="N1"/>
{!-= E.i.3.2e: Congenital Anomaly / Birth Defect #3 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<{code code="26" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1.19” displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
{!—— E.1i.3.2f: Other Medically Important Condition #3 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.11"/>
<!== E.i.7: Outcome of Reaction / Event at the Time of Last Observation #3 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>
{!-= E.i.8: Medical Confirmation by Healthcare Professional #3 ——>
<{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2.16. 840. 1. 113883.3.989.5.1.3.2. 1. 10" displayName="A%1 « BE5"/>
<value xsi:type="CE” code="J2.14.1” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.8"/>
<I-- @0@J2.14. 1 K0 - BEm #3 ——>
{/observation>
</outboundRelationship2>
{/observation>
</subject0f2>
<{subjectOf2 typeCode="SB]”>
{observation classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4-499c-80ff-dd8415f4f8a5" />
{code code="29" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” displayName="reaction”/>
<effectiveTime xsi:type="SXPR_TS”>
<{comp xsi:type="IVL_TS”>
<low value="20090101"/>
<!-= E.i.4: Date of Start of Reaction / Event #4 ——>
<high value="20101201"/>
<!-= E.i.5: Date of End of Reaction / Event #4 ——>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<width value="24" unit="E.i.6b"/>
<{!-— E.i.6a: Duration of Reaction / Event (number) #4 ——>
<{!-— E.i.6b: Duration of Reaction / Event (unit) #4 ——>
</comp>
{/effectiveTime>
<value xsi:type="CE” code="E.i.2.1b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="E. i.2.1a”>
<!—— E.1i.2.1a: MedDRA Version for Reaction / Event #4 —>
¢!-— E.i.2.1b: Reaction / Event (MedDRA code) #4 ——>
<originalText language="E.i.1.1b”>E.i.1.1a</originalText>
<{!-—= E.i.1.la: Reaction / Event as Reported by the Primary Source in Native Language #4 ——>
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¢!=—— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #4 ——>

<{/value>
{location typeCode="LOC">
<{locatedEntity classCode="LOCE”>

<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
¢!—— E.i.9: Identification of the Country Where the Reaction / Event Occurred #4 ——>

<{/locatedPlace>
</locatedEntity>
<{/location>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<{code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reactionForTranslation”/>

<value xsi:type="ED">E.1i.1.2</value>

{!—— E.1i.1.2: Reaction / Event as Reported by the Primary Source for Translation #4 —>

</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.10"/>
<l— E.i.3.1:Term Highlighted by the Reporter #4 —>

{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="34" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.

<value xsi:type="BL” value="true”/>
{!-- E.i.3.2a: Results in Death #4 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="21" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1.

<value xsi:type="BL” nullFlavor="NI1"/>
<|-= E.i.3.2b: Life Threatening #4 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="33" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.

<value xsi:type="BL” value="true”/>

<{!—— E.1i.3.2c: Caused / Prolonged Hospitalisation #4 —>

</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="35" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.

<value xsi:type="BL” nullFlavor="NI"/>

<!-= E.i.3.2d: Disabling / Incapacitating #4 ——>

<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="12" codeSystem="2.16. 840. 1. 113883. 3.989.2. 1. 1.

<value xsi:type="BL” nullFlavor="N1"/>

<{!-— E.1i.3.2e: Congenital Anomaly / Birth Defect #4 ——>

{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN”">

<{code code="26" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.

<value xsi:type="BL” value="true”/>

{!—— E.1i.3.2f: Other Medically Important Condition #4 —>

</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

19”

19”

19”

19”

19”

19”

displayName="resultsInDeath”/>

displayName="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalAnomalyBirthDefect”/>

displayName="otherMedicallyImportantCondition”/>

<code code="27" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.11"/>
<!== E.i.7: Outcome of Reaction / Event at the Time of Last Observation #4 —>

<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

- 14 -



<code code="24" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>
(!-= E.i.8: Medical Confirmation by Healthcare Professional #4 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<{code code="11" codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1. 3.2.1.10” displayName="A%1 « BEZ1"/>
<value xsi:type="CE” code="J2.14.1” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.8"/>
<I-- @0eJ2.14.1 K0 - B #4 —>
</observation>
</outboundRelationship2>
</observation>
</subject0f2>
<{subjectOf2 typeCode="SB]”>
{observation classCode="0BS” moodCode="EVN">
<id root="1071064c-cf10-4a3b-83c1-34f9ddb7eabd”/>
{code code="29" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TS”>
<low value="20090101"/>
<!-= E.i.4: Date of Start of Reaction / Event #5 ——>
{/effectiveTime>
<value xsi:type="CE” code="E.i.2.1b” codeSystem="2. 16.840. 1. 113883.6. 163" codeSystemVersion="E.1i.2.1a”>
<!-= E.i.2.1a: MedDRA Version for Reaction / Event #5 ——>
<!—— E.1i.2.1b: Reaction / Event (MedDRA code) #5 ——>
<originalText language="E.i.l.1b”>E.1i. 1. la{/originalText>
<l=— E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #5 —>
<!—— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #5 ——>
{/value>
{location typeCode="LOC">
<locatedEntity classCode="LOCE”>
<{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="E.i.9” codeSystem="1.0.3166.1.2.27/>
¢l-— E.i.9: Identification of the Country Where the Reaction / Event Occurred #5 ——>
</locatedPlace>
<{/locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reactionForTranslation”/>
<value xsi:type="ED”>E. 1. 1.2</value>
<]-— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #5 ——>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840. 1. 113883. 3.989.2.1. 1. 10”/>
<!-— E.1i.3.1:Term Highlighted by the Reporter #5 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<{code code="34" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="resultsInDeath”/>
<value xsi:type="BL” value="true”/>
<!-— E.i.3.2a: Results in Death #5 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
<l— E.i.3.2b: Life Threatening #5 —>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1. 19” displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL” value="true”/>
<!-= E.i.3.2c: Caused / Prolonged Hospitalisation #5 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="35" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.19” displayName="resultsInPersistentOrSignificantDisability”/>

- 15 -



<value xsi:type="BL” nullFlavor="NI1"/>
{!-— E.1i.3.2d: Disabling / Incapacitating #5 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI"/>
<l— E.i.3.2e: Congenital Anomaly / Birth Defect #5 —>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
{!== E.i.3.2f: Other Medically Important Condition #5 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2.16. 840. 1. 113883. 3. 989.2. 1. 1. 19” displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2.16.840.1.113883.3.989.2.1.1.11"7/>
<]-= E.i.7: Outcome of Reaction / Event at the Time of Last Observation #5 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>
<l— E.i.8: Medical Confirmation by Healthcare Professional #5 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1.3.2. 1. 10” displayName="A%1 « BE&"/>
<value xsi:type="CE” code="J2.14.1” codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.8"/>
<l-- @@@J2. 14. 1 A0 - BEMN #5 ——>
<{/observation>
</outboundRelationship2>
</observation>
<{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<observation classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-e925640fb18f" />
{code code="29" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” displayName="reaction”/>
(effectiveTime xsi:type="IVL_TS”>
<high value="20090101"/>
<!-= E.i.4: Date of Start of Reaction / Event #6 ——>
{/effectiveTime>
<value xsi:type="CE” code="E.i.2.1b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="E.i. 2. la”>
<!—— E.1i.2.1a: MedDRA Version for Reaction / Event #6 —>
¢!-— E.i.2.1b: Reaction / Event (MedDRA code) #6 ——>
<originalText language="E.i.1.1b”>E.i. 1. 1a<{/originalText>
<{!-—= E.i.1.1la: Reaction / Event as Reported by the Primary Source in Native Language #6 ——>
¢!-— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #6 ——>
<{/value>
<location typeCode="LOC">
<locatedEntity classCode="LOCE”>
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
(= E.i.9: Identification of the Country Where the Reaction / Event Occurred #6 ——>
</locatedPlace>
</locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<{code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reactionForTranslation”/>
<value xsi:type="ED”>E.1i.1.2</value>
{!—— E.1i.1.2: Reaction / Event as Reported by the Primary Source for Translation #6 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 10”/>
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<l— E.i.3.1:Term Highlighted by the Reporter #6 —>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2.16. 840. 1. 113883. 3.989.2. 1. 1.
<value xsi:type="BL” value="true”/>
<(]-= E.i.3.2a: Results in Death #6 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<{code code="21" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.
<value xsi:type="BL” nullFlavor="NI1"/>
<!-— E.i.3.2b: Life Threatening #6 ——>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.
<value xsi:type="BL” value="true”/>
<l— E.1i.3.2c: Caused / Prolonged Hospitalisation #6 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.
<value xsi:type="BL” nullFlavor="N1"/>
¢!-= E.i.3.2d: Disabling / Incapacitating #6 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2.16. 840. 1. 113883. 3.989.2. 1. 1.
<value xsi:type="BL” nullFlavor="NI1"/>
<{!-— E.1i.3.2e: Congenital Anomaly / Birth Defect #6 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.
<value xsi:type="BL” value="true”/>
{!—— E.1i.3.2f: Other Medically Important Condition #6 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

19”

19”

19”

19”

19”

19”

displayName="resultsInDeath”/>

displayName="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalAnomalyBirthDefect”/>

displayName="otherMedical lyImportantCondition”/>

<code code="27" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.117/>
{!-= E.i.7: Outcome of Reaction / Event at the Time of Last Observation #6 ——>

<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="24" codeSystem="2.16. 840. 1. 113883.3.989.2. 1. 1.19” displayName="medicalConfirmationByHealthProfessional”/>

<value xsi:type="BL” value="true”/>

<{!-— E.1i.8: Medical Confirmation by Healthcare Professional #6 ——>

{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN”">

<{code code="11" codeSystem="2. 16.840. 1. 113883. 3.989. 5. 1.3.2.1.10” displayName="A%1 « BEZ1"/>
<value xsi:type="CE” code="J2.14.1” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.8"/>

<I-- @@@J2.14.1 A0 - BLA #6 ——>
</observation>
</outboundRelationship2>
</observation>
</subject0f2>
<{subjectOf2 typeCode="SB]”>
<observation classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-b6bb-cel4bc279d8e” />

{code code="29" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="reaction”/>

CeffectiveTime xsi:type="IVL_TS”>
<width value="24" unit="E.i.6b"/>
{!—— E.1i.6a: Duration of Reaction / Event (number) #7 ——>
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<!-= E.i.6b: Duration of Reaction / Event (unit) #7 ——>
{/effectiveTime>

<value xsi:type="CE” code="E.i.2.1b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="E.i. 2. la”>

<!-= E.i.2.1a: MedDRA Version for Reaction / Event #7 ——>
<!-— E.i.2.1b: Reaction / Event (MedDRA code) #7 ——>
<originalText language="E.1i.1.1b”>E.i.1.1la</originalText>

{!—— E.i.1.1la: Reaction / Event as Reported by the Primary Source in Native Language #7 ——>
<{!-—= E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #7 ——>

</value>
<location typeCode="L0C">
<locatedEntity classCode="LOCE”>

<locatedPlace classCode="COUNTRY” determinerCode="TNSTANCE”>

{code code="E.i.9” codeSystem="1.0.3166.1.2.27/>

(= E.i.9: Identification of the Country Where the Reaction / Event Occurred #7 ——>

<{/locatedPlace>
</locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="30" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reactionForTranslation”/>

<value xsi:type="ED”>E.1i.1.2</value>

<!-— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #7 ——>

{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="37" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840. 1. 113883. 3.989.2.1. 1. 10”/>

{!== E.i.3.1:Term Highlighted by the Reporter #7 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2.16. 840. 1. 113883. 3.989.2. 1. 1.
<value xsi:type="BL” value="true”/>
<]-= E.i.3.2a: Results in Death #7 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.
<value xsi:type="BL” nullFlavor="NI1"/>
<!-— E.i.3.2b: Life Threatening #7 ——>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.
<value xsi:type="BL” value="true”/>
{!-= E.i.3.2c: Caused / Prolonged Hospitalisation #7 ——>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.
<value xsi:type="BL” nullFlavor="N1"/>
<!-= E.i.3.2d: Disabling / Incapacitating #7 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN”">
<{code code="12" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.
<value xsi:type="BL” nullFlavor="NI1"/>
<{!—— E.1i.3.2e: Congenital Anomaly / Birth Defect #7 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.
<value xsi:type="BL” value="true”/>
<l— E.i.3.2f: Other Medically Important Condition #7 —>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
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19”

19”

19”

19”

19”

19”

displayName="resultsInDeath”/>

displayName="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalAnomalyBirthDefect”/>

displayName="otherMedicallyImportantCondition”/>



{code code="27" codeSystem="2.16.840. 1. 113883. 3.989.2. 1. 1.19” displayName="outcome”/>
<{value xsi:type="CE” code="E.1i.7” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.11"/>
{!-= E.i.7: Outcome of Reaction / Event at the Time of Last Observation #7 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
{code code="24" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>
<{!—— E.1i.8: Medical Confirmation by Healthcare Professional #7 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989.5. 1. 3.2.1. 10" displayName="%n « BE%n"/>
<value xsi:type="CE” code="]J2.14.1” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.8"/>
<= @00J2. 14. 1 AFn - BEFN #7 —>
{/observation>
</outboundRelationship2>
<{/observation>
</subject0f2>
{subjectOf2 typeCode="SBJ”>
<observation classCode="0BS” moodCode="EVN">
<id root="alb5be092-8070-426d-af04-6863263443¢0” />
{code code="29" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="reaction”/>
{effectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="IVL_TS”>
<low value="20090101"/>
{!-= E.i.4: Date of Start of Reaction / Event #8 -—>
<width value="24" unit="E.i.6b"/>
<{!-— E.i.6a: Duration of Reaction / Event (number) #8 ——>
{!-= E.i.6b: Duration of Reaction / Event (unit) #8 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<high value="20101201"/>
<!-= E.i.5: Date of End of Reaction / Event #8 ——>
</comp>
{/effectiveTime>
<value xsi:type="CE” code="E.i.2.1b” codeSystem="2.16.840. 1. 113883.6. 163" codeSystemVersion="E.1i.2.1a”>
<!-= E.i.2.1a: MedDRA Version for Reaction / Event #8 ——>
<!—— E.1i.2.1b: Reaction / Event (MedDRA code) #8 ——>
<originalText language="E.1i.1.1b”>E.i.1.1la</originalText>
{!—— E.i.1.1la: Reaction / Event as Reported by the Primary Source in Native Language #8 ——>
<{!-= E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #8 —->
{/value>
<location typeCode="L0C">
<locatedEntity classCode="LOCE”>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
¢l-— E.i.9: Identification of the Country Where the Reaction / Event Occurred #8 ——>
<{/locatedPlace>
</locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="reactionForTranslation”/>
<value xsi:type="ED”>E.1i. 1.2</value>
<{]—— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #8 —>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
{code code="37" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840. 1. 113883. 3.989.2.1. 1. 10”/>
{!-= E.i.3.1:Term Highlighted by the Reporter #8 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<{code code="34" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="resultsInDeath”/>
<value xsi:type="BL” value="true”/>
<!-— E.i.3.2a: Results in Death #8 ——>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
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<observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.
<value xsi:type="BL” nullFlavor="NI1"/>
<l— E.i.3.2b: Life Threatening #8 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="33" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.
<value xsi:type="BL” value="true”/>
{!-= E.i.3.2c: Caused / Prolonged Hospitalisation #8 ——>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2.16. 840. 1. 113883.3.989.2. 1. 1.
<value xsi:type="BL” nullFlavor="NI"/>
<!-= E.i.3.2d: Disabling / Incapacitating #8 ——>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<{code code="12" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.
<value xsi:type="BL” nullFlavor="NI1"/>
<{!—— E.1i.3.2e: Congenital Anomaly / Birth Defect #8 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.
<value xsi:type="BL” value="true”/>
<l— E.i.3.2f: Other Medically Important Condition #8 —>
<{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

19”

19”

19”

19”

19”

displayName="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalAnomalyBirthDefect”/>

displayName="otherMedicallyImportantCondition”/>

<code code="27" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="outcome”/>
<value xsi:type="CE” code="E.1i.7” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.11"/>
<]-= E.i.7: Outcome of Reaction / Event at the Time of Last Observation #8 ——>

{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<{code code="24" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="medicalConfirmationByHealthProfessional”/>

<value xsi:type="BL” value="true”/>

<{!—— E.1i.8: Medical Confirmation by Healthcare Professional #8 ——>

</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">

<code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989.5. 1. 3.2. 1. 10” displayName="%n « BE%n"/>
<value xsi:type="CE” code="]J2.14.1” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.8"/>

<1— 00@J2.14. 1 ARHn - BEFN #8 —>
{/observation>
</outboundRelationship2>
<{/observation>
<{/subject0f2>
<subjectOf2 typeCode="SBJ”>
<{organizer classCode="CATEGORY” moodCode="EVN">

<code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 20” displayName="testsAndProceduresRelevantToThelnvestigation”/>

<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">

<code code="F.r.2.2b” codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a”>

{l— F.r.2.2a: MedDRA Version for Test Name #1 ——>
(l—— F.r.2.2b: Test Name (MedDRA code) #1 —>
<originalText>F. r. 2. 1<{/originalText>
{I-— F.r.2.1: Test Name (free text) #1 ——>

{/code>

<effectiveTime value="20090101"/>

<!-= F.r.1: Test Date #l —>

<value xsi:type="IVL_PQ">
{center value="10" unit="mg/dl”/>
(l-— F.r.3.2: Test Result (value / qualifier) #1 ——>
<!—— F.r.3.3: Test Result (unit) #1 —>

</value>
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{interpretationCode code="F.r.3.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.12"/>
)= F.r.3.1: Test Result (code) #1 ——>
{referenceRange typeCode="REFV”>
<observationRange classCode="0BS” moodCode="EVN. CRT”>
<value xsi:type="PQ” value="40" unit="mg/dl”/>
<!== F.r.4: Normal Low Value #1 ——>
{interpretationCode code="L" codeSystem="2.16.840. 1. 113883.5.83"/>
</observationRange>
</referenceRange>
<{referenceRange typeCode="REFV”>
<observationRange classCode="0BS” moodCode="EVN. CRT”>
<value xsi:type="PQ” value="110" unit="mg/d1”/>
<{!-= F.r.5: Normal High Value #1-->
{interpretationCode code="H" codeSystem="2. 16.840. 1. 113883.5.83"/>
</observationRange>
{/referenceRange>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED”>F.r.6</value>
{!-— F.r.6: Comments (free text) #1 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="25" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="moreInformationAvailable”/>
<value xsi:type="BL” value="true”/>
{I==F.r.7: More Information Available #1 —>
{/observation>
</outboundRelationship2>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b” codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a”>
<{l—— F.r.2.2a: MedDRA Version for Test Name #2 ——>
(l—— F.r.2.2b: Test Name (MedDRA code) #2 ——>
<originalText>F. r. 2. 1<{/originalText>
{I-— F.r.2.1: Test Name (free text) #2 ——>
</code>
<effectiveTime value="20090101"/>
== TF.r.1: Test Date #2 ——>
<value xsi:type="IVL_PQ”>
<{low nullFlavor="NINF"/>
<high value="10" unit="mg/d1” inclusive="false”/>
<{/value>
<{l-— F.r.3.2: Test Result (value / qualifier) #2 ——>
<]== F.1.3.3: Test Result (unit) #2 ——>
<!-= LT 10 mg/dl #2 ——>
{/observation>
</component>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2.2a">
{!-= F.r.2.2a: MedDRA Version for Test Name #3 ——>
<I— F.r.2.2b: Test Name (MedDRA code) #3 —>
<originalText>F. r.2. 1<{/originalText>
(== F.r.2.1: Test Name (free text) #3 ——>
<{/code>
<effectiveTime value="20090101"/>
<I== F.r.1: Test Date #3 ——>
<value xsi:type="IVL_PQ">
<{low nullFlavor="NINF"/>
<high value="10" unit="mg/dl” inclusive="true”/>
{/value>
<l— F.r.3.2: Test Result (value / qualifier) #3 —>
<J-— F.r.3.3: Test Result (unit) #3 ——>
<I-= LE 10 mg/dl #3-->
<{/observation>
</component>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a">
{l— F.r.2.2a: MedDRA Version for Test Name #4 ——>
(== F.r.2.2b: Test Name (MedDRA code) #4 ——>
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<originalText>F. r. 2. 1<{/originalText>
<I—— F.r.2.1: Test Name (free text) #4 ——>
{/code>
<effectiveTime value="20090101"/>
<!-= F.r.1: Test Date #4 —>
<value xsi:type="IVL_PQ">
{low value="10" unit="mg/dl” inclusive="false”/>
<high nullFlavor="PINF”/>
</value>
{I— F.1.3.2: Test Result (value / qualifier) #4 —>
<{l-— F.r.3.3: Test Result (unit) #4 ——>
<= GT 10 mg/dl #4 —>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b” codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a">
<{l-—— F.r.2.2a: MedDRA Version for Test Name #5 ——>
(l—— F.r.2.2b: Test Name (MedDRA code) #5 ——>
<originalText>F. r. 2. 1<{/originalText>
(l-— F.r.2.1: Test Name (free text) #5 ——>
</code>
<effectiveTime value="20090101"/>
== F.r.1: Test Date #5 ——>
<value xsi:type="IVL_PQ”>
{low value="10" unit="mg/dl” inclusive="true”/>
<high nullFlavor="PINF”/>
<{/value>
<{l-— F.r.3.2: Test Result (value / qualifier) #5 ——>
<]== F.1.3.3: Test Result (unit) #5 ——>
<!-= GE 10 mg/dl #5 ——>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<{code code="F.r.2.2b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2.2a">
{!-= F.r.2.2a: MedDRA Version for Test Name #6 ——>
<I— F.r.2.2b: Test Name (MedDRA code) #6 —>
<originalText>F.r.2. 1<{/originalText>
(== F.r.2.1: Test Name (free text) #6 —>
<{/code>
<effectiveTime value="20090101"/>
{]-= F.r.1: Test Date #6 —>
<value xsi:type="ED”>F.r.3.4</value>
<!== F.r.3.4: Result Unstructured Data (free text) #6 ——>
<{/observation>
</component>
</organizer>
<{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<{organizer classCode="CATEGORY” moodCode="EVN">
<code code="4" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 20” displayName="drugInformation”/>
<{!== G.k Drug(s) Information (repeat as necessary) #1 —>
{component typeCode="COMP”>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c30-67671b0ef9ed” />
<consumable typeCode="CSM">
{instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.1.1b” codeSystem="TBD-MPID” codeSystemVersion="G.k.2.1.1a”/>
<!-= G.k.2.1.1a: MPID Version Date / Number #1 ——>
<!-= G.k.2.1.1b: Medicinal Product Identifier (MPID) #1 ——>
<name>G. k. 2. 2</name>
{!—— G.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 ——>
{asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SBJ">
<approval classCode="CNTRCT” moodCode="EVN">
<id extension="G.k.3.1” root="2.16.840. 1. 113883.3.989.2.1.3.4"/>
<{!—— G.k.3.1: Authorisation / Application Number #1 ——>
<author typeCode="AUT”>
{territorialAuthority classCode="TERR”>
{territory classCode="NAT” determinerCode="INSTANCE”>
<code code="G.k.3.2” codeSystem="1.0.3166.1.2.2"/>
<l-— G.k.3.2: Country of Authorisation / Application #1 —>
<{/territory>
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{/territorialAuthority>
<{/author>
{pertinentInformation typeCode="PERT”>
<policy classCode="POLICY” moodCode="EVN">
<code code="J2.5.k” codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.4"/>
<1-- 00@J2. 5. k: —fRMEKMBEDY 27 K535 #1 —>
<{/policy>
</pertinentInformation>
</approval>
<{/subjectOf>
{subjectOf typeCode="SBJ”>
{characteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 10” displayName="37[E & 25 DIRPLX 5" />
<value xsi:type="CE” code="]J2.4.k” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.3"/>
<I== @00J2. 4. k: FrEHMEDRBLIXSy #1 —>
{/characteristic>
</subjectOf>
</asManufacturedProduct>
<asSpecializedKind classCode="GEN">
{generalizedMaterialKind classCode="MAT” determinerCode="KIND”>
<code>
{originalText>J2. 12</original Text>
<l-- 00J2. 12: JRBRASYRLES —
<{/code>
{/generalizedMaterialKind>
</asSpecializedKind>
<ingredient classCode="ACTI”>
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
<l=— G.k.2.3.7.3a: Strength (number) #1-1 —>
{!-= G.k.2.3.1r.3b: Strength (unit) #1-1 —>
<denominator value="1"/>
<{/quantity>
{ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.3.1.2b" codeSystem="TBD-Substance” codeSystemVersion="G. k. 2.3.r.2a”/>
<]-= G.k.2.3.1.2a: Substance / Specified Substance TermID Version Date / Number #1-1 ——>
<l-= G.k.2.3.1.2b: Substance / Specified Substance TermID #1-1 —>
<name>G. k. 2. 3. r. 1</name>
<]-= G.k.2.3.1.1: Substance / Specified Substance Name #1-1 ——>
</ingredientSubstance>
<{/ingredient>
{ingredient classCode="ACTI”>
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
<l=— G.k.2.3.1.3a: Strength (number) #1-2 —>
<= G.k.2.3.r.3b: Strength (unit) #1-2 —>
<denominator value="1"/>
<{/quantity>
{ingredientSubstance classCode="MMAT” determinerCode="KIND”>
<code code="G.k.2.3.1.2b" codeSystem="TBD-Substance” codeSystemVersion="G.k.2.3.r.2a”/>
{l—— G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date / Number #1-2 —>
<l-= G.k.2.3.1.2b: Substance / Specified Substance TermID #1-2 —>
<{name>G. k. 2. 3. r. 1</name>
<]-= G.k.2.3.r.1: Substance / Specified Substance Name #1-2 ——>
</ingredientSubstance>
<{/ingredient>
</kindOfProduct>
{subjectOf typeCode="SBJ”>
<{productEvent classCode="ACT” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 18” displayName="retailSupply”/>
<{performer typeCode="PRF”>
{assignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<addr>
<country>G. k. 2. 4</country>
(== G.k.2.4: Identification of the Country Where the Drug Was Obtained #1 —>
</addr>
{/representedOrganization>
{/assignedEntity>
<{/performer>
</productEvent>
<{/subjectOf>
{subjectOf typeCode="SBJ]">
<observationEvent classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 10" displayName="—f% I EZK S D A FHEIK"/>
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Reaction #1 —>

Reaction #1 ——>

Reaction #2 ——>

Reaction #2 ——>

Reaction #3 ——>

Reaction #3 ——>

Reaction #4 ——>

Reaction #4 ——>

<value xsi:type="CE” code="]J2.6.k” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.5"/>

<I-— @0eJ2. 6. k: —fRMERROAFHRE §1 —>
{/observationEvent>
<{/subjectOf>

<{/instance0fKind>
{/consumable>
<outboundRelationshipl typeCode="SAS”>

{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>

(- G6.k.9.1.3.1a: Time Interval between Beginning of

<]== 6.k.9.1.3.1b: Time Interval between Beginning of

<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6f4657f" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<{!-= G.k.9.1i.3.2a: Time Interval between Last Dose of

<!-= G.k.9.1.3.2b: Time Interval between Last Dose of
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6f4657f" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
(== G.k.9.1.3.1a: Time Interval between Beginning of

(- G6.k.9.1.3.1b: Time Interval between Beginning of

<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4ebc-93e9-5b860b314220” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<l— G.k.9.1.3.2a: Time Interval between Last Dose of

<!-= G.k.9.1.3.2b: Time Interval between Last Dose of
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4eb6c-93e9-5b860b314220" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<]== 6.k.9.1.3.1a: Time Interval between Beginning of

<l G.k.9.1.3.1b: Time Interval between Beginning of

<actReference classCode="0BS” moodCode="EVN">
<id root="3a8626cb-9f1b-4ea8-8a0f-e0ff34430adf” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
{J==G.k.9.1.3.2a: Time Interval between Last Dose of

<l— G.k.9.1.3.2b: Time Interval between Last Dose of
<actReference classCode="0BS” moodCode="EVN">
<id root="3a8626cb-9f1b-4ea8-8a0f-e0ff34430adf” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
(- G6.k.9.1.3.1a: Time Interval between Beginning of

<]-= 6.k.9.1.3.1b: Time Interval between Beginning of

<actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4-499c-80ff-dd8415f4f8a5" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
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Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Administration and Start of Reaction / Event (number) Drug #1

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #1 ——

and Start of Reaction / Event (unit) Drug #1, Reaction #1 —>

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #I,

and Start of Reaction / Event (number) Drug #1, Reaction #2 ——

and Start of Reaction / Event (unit) Drug #1, Reaction #2 —>

Administration and Start of Reaction / Event (number) Drug #1

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #3 ——

and Start of Reaction / Event (unit) Drug #1, Reaction #3 —>

Administration and Start of Reaction / Event (number) Drug #1

Administration and Start of Reaction / Event (unit) Drug #1,



Reaction #5 ——>

Reaction #5 ——>

Reaction #6 ——>

Reaction #6 ——>

Reaction #7 ——>

Reaction #7 ——>

Reaction #8 ——>

Reaction #8 ——>

<{!-= G.k.9.1i.3.2a: Time Interval between Last Dose of

<!-= G.k.9.1.3.2b: Time Interval between Last Dose of
<actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4-499c-80ff-dd8415f4f8a5" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
{!—— G.k.9.i.3.1a: Time Interval between Beginning of

<!—— G.k.9.1.3.1b: Time Interval between Beginning of

<actReference classCode="0BS” moodCode="EVN">
<id root="1071064c—cf10-4a3b-83c1-34f9ddb7eabd” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<l— G.k.9.1.3.2a: Time Interval between Last Dose of

<{!-= G.k.9.1.3.2b: Time Interval between Last Dose of
<actReference classCode="0BS” moodCode="EVN">
<id root="1071064c-cf10-4a3b-83c1-34f9ddbT7eabd” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<]== 6.k.9.1.3.1a: Time Interval between Beginning of

<l G.k.9.1.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-e925640fb18f" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<{J-=G.k.9.1.3.2a: Time Interval between Last Dose of

<l— G.k.9.1.3.2b: Time Interval between Last Dose of
<actReference classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-¢925640fb18f" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
(- G6.k.9.1.3.1a: Time Interval between Beginning of

<]-= 6.k.9.1.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-b6bb-cel4bc279d8e” />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<{!-= G.k.9.1i.3.2a: Time Interval between Last Dose of

<!-=G.k.9.1.3.2b: Time Interval between Last Dose of
<actReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-b6bb-cel4bc279d8e” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<{l-— G.k.9.1.3.1a: Time Interval between Beginning of

(== 6.k.9.1.3.1b: Time Interval between Beginning of

<actReference classCode="0BS” moodCode="EVN">
<id root="albbe092-8070-426d-af04-6863263443¢0” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
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Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

Drug

and Start of Reaction / Event (number) Drug #1, Reaction #4 —

and Start of Reaction / Event (unit) Drug #1, Reaction #4 —>

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #5 ——

and Start of Reaction / Event (unit) Drug #1, Reaction #5 —>

Administration and Start of Reaction / Event (number) Drug #1

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #6 ——

and Start of Reaction / Event (unit) Drug #1, Reaction #6 —>

Administration and Start of Reaction / Event (number) Drug #1

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #7 —

and Start of Reaction / Event (unit) Drug #1, Reaction #7 —>

Administration and Start of Reaction / Event (number) Drug #1

Administration and Start of Reaction / Event (unit) Drug #1,



{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
(== 6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction #8 ——

>
{]=— 6.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction #8 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="alb5be092-8070-426d-af04-6863263443e0” />
{/actReference>
</outboundRelationshipl>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="6" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="blinded”/>
<value xsi:type="BL” value="true”/>
<!-= G.k.2.5: Investigational Product Blinded #1 —->
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
(= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-1 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8</text>
{!—— G.k.4.r.8: Dosage Text #1-1 —>
CeffectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="PIVL_TS">
{period value="10" unit="G.k.4.r.3”/>
{!-= G.k.4.r.2: Number of Units in the Interval #1-1 ——>
{l— G.k.4.1.3: Definition of the Time Interval Unit #1-1 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
<]== G.k.4.r.4: Date and Time of Start of Drug #1-1 —>
<high value="20090101"/>
<{!-= G.k.4.r.5: Date and Time of Last Administration #1-1 —>
</comp>
{comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/>
<!== G.k.4.r.6a: Duration of Drug Administration (number) #1-1 —>
(== G.k.4.r.6b: Duration of Drug Administration (unit) #1-1 —>
</comp>
<{/effectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
{!-= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-1 ——>
<l== G.k.4.1.10.2b: Route of Administration TermID #1-1 —>
<originalText>G. k. 4.r.10. 1</originalText>
<!=— G.k.4.r.10.1: Route of Administration (free text) #l1-1 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!—— G.k.4.r.1a Dose (number) #1-1 —>
{!-= G.k.4.r.1b: Dose (unit) #1-1 ——>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<I== G.k.4.1.7: Batch / Lot Number #1-1 ——>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
<)== G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-1 —>
<l== G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-1 —>
{originalText>G. k. 4.r.9. 1</original Text>
<!=— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #l1-1 —>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
<{inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 14" codeSystemVersion="G. k. 4. r.
11.2a">

{!—— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-1 ——>
<{]== G.k.4.r.11.2b: Parent Route of Administration TermID #1-1 ——>
<originalText>G. k. 4. r. 11. 1<{/originalText>
<)== G.k.4.r.11.1: Parent Route of Administration (free text) #l1-1 —>
{/value>
<{/observation>
</inboundRelationship>
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{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
(- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-2 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8</text>
{!—— G.k.4.r.8: Dosage Text #1-2 —>
<effectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="PIVL_TS”>
<{period value="10" unit="G.k.4.r.3"/>
<{!-== G.k.4.r.2: Number of Units in the Interval #1-2 ——>
{l— G.k.4.1.3: Definition of the Time Interval Unit #1-2 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
<]== G.k.4.r.4: Date and Time of Start of Drug #1-2 —>
<high value="20090101"/>
<{I== G.k.4.r.5: Date and Time of Last Administration #1-2 —>
</comp>
<{/effectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<]== G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-2 ——>
<l== G.k.4.r.10.2b: Route of Administration TermID #1-2 —>
<originalText>G. k. 4.r.10. 1</originalText>
<!-—— G.k.4.r.10.1: Route of Administration (free text) #1-2 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!—— G.k.4.r.1a Dose (number) #1-2 —>
{!-= G.k.4.r.1b: Dose (unit) #1-2 ——>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<I== G.k.4.1.7: Batch / Lot Number #1-2 ——>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
<)== G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-2 —>
<l== G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-2 —>
{originalText>G. k. 4.r.9. 1</original Text>
{!=— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-2 —>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 14" codeSystemVersion="G. k. 4. r.
11.2a">
{!—— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-2 ——>
<!== G.k.4.r.11.2b: Parent Route of Administration TermID #1-2 ——>
<originalText>G. k. 4. r. 11. 1<{/originalText>
<!-— G.k.4.r.11.1: Parent Route of Administration (free text) #1-2 ——>
{/value>
<{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
(= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-3 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. 1. 8</text>
{l—— G.k.4.r.8: Dosage Text #1-3 —>
CeffectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="PIVL_TS”>
{period value="10" unit="G.k.4.r.3”/>
<{!-= G.k.4.r.2: Number of Units in the Interval #1-3 ——>
{l— G.k.4.1.3: Definition of the Time Interval Unit #1-3 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
<]== G.k.4.r.4: Date and Time of Start of Drug #1-3 —>
<width value="4" unit="G.k.4.r.6b"/>
<{l-= G.k.4.r.6a: Duration of Drug Administration (number) #1-3 —->
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(= G.k.4.r.6b: Duration of Drug Administration (unit) #1-3 ——>
</comp>
{/effectiveTime>
<routeCode code="G. k. 4.r.10.2b” codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<]== G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #1-3 —>
<{!-= G.k.4.1.10.2b: Route of Administration TermID #1-3 ——>
<originalText>G. k. 4. . 10. 1</originalText>
<!-= G.k.4.r.10.1: Route of Administration (free text) #1-3 ——>
</routeCode>
<{doseQuantity value="10" unit="G.k.4.r.1b"/>
{!-= G.k.4.r. la Dose (number) #1-3 ——>
<!-—— G.k.4.r.1b: Dose (unit) #1-3 —>
{consumable typeCode="CSM”>
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<{lotNumberText>G. k. 4. r. 7</lotNumberText>
<{!== G.k.4.1.7: Batch / Lot Number #1-3 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-3 —->
<{!-= G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-3 ——>
<originalText>G. k. 4.r.9. 1<{/originalText>
<{l-= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-3 ——>
<{/formCode>
</kindOfProduct>
</instanceOfKind>
<{/consumable>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
<!-= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-3 ——>
<!== G.k.4.1.11.2b: Parent Route of Administration TermID #1-3 —>
<originalText>G. k. 4. r.11.1<{/originalText>
¢!-= G.k.4.r.11.1: Parent Route of Administration (free text) #1-3 ——>
<{/value>
</observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{l-= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-4 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
<l== G.k.4.r.8: Dosage Text #1-4 —>
CeffectiveTime xsi:type="SXPR_TS”>
<{comp xsi:type="PIVL_TS”>
{period value="10" unit="G.k.4.r.3"/>
{]== G.k.4.1.2: Number of Units in the Interval #1-4 —>
{!-= G.k.4.1.3: Definition of the Time Interval Unit #1-4 ——>
</comp>
<{comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/>
<l-= G.k.4.r.6a: Duration of Drug Administration (number) #1-4 ——>
(== G.k.4.r.6b: Duration of Drug Administration (unit) #1-4 —>
<high value="20090101"/>
{l— G.k.4.1.5: Date and Time of Last Administration #1-4 —>
</comp>
{/effectiveTime>
<{routeCode code="G.k.4.r.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<]== G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-4 ——>
<l== G.k.4.1.10.2b: Route of Administration TermID #1-4 —>
<originalText>G. k. 4.r.10. 1</originalText>
<]== G.k.4.1.10.1: Route of Administration (free text) #1-4 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!—— G.k.4.r.1a Dose (number) #1-4 —>
<]-= G.k.4.r.1b: Dose (unit) #1-4 —>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<I== G.k.4.1.7: Batch / Lot Number #1-4 ——>
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{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-4 ——>
<l== G.k.4.7.9.2b: Pharmaceutical Dose Form TermID #1-4 —>
<originalText>G. k.4.r.9. 1<{/originalText>
<!=— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #l1-4 —>
</formCode>
</kindOfProduct>
<{/instanceOfKind>
</consumable>
<{inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
<!== G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-4 ——>
<{]== G.k.4.r.11.2b: Parent Route of Administration TermID #1-4 ——>
<originalText>G. k. 4. r. 11. 1<{/originalText>
<)== G.k.4.r.11.1: Parent Route of Administration (free text) #l1-4 —>
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
(- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-5 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8</text>
<l=— G.k.4.r.8: Dosage Text #1-5 —>
<effectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="IVL_TS”>
<low value="20090101"/>
<]== G.k.4.r.4: Date and Time of Start of Drug #1-5 —>
<high value="20090101"/>
<{!== G.k.4.r.5: Date and Time of Last Administration #1-5 —>
</comp>
{comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/>
<!== G.k.4.r.6a: Duration of Drug Administration (number) #1-5 —>
<l-= G.k.4.r.6b: Duration of Drug Administration (unit) #1-5 ——>
</comp>
<{/effectiveTime>
<{routeCode code="G.k. 4. r.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<{!-= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-5 ——>
<l=— G.k.4.1.10.2b: Route of Administration TermID #1-5 —>
<originalText>G. k. 4.r.10. 1</originalText>
{!-= G.k.4.1.10.1: Route of Administration (free text) #1-5 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!—— G.k.4.r.1a Dose (number) #1-5 —>
{!-= G.k.4.r.1b: Dose (unit) #1-5 ——>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<!== G.k.4.1.7: Batch / Lot Number #1-5 ——>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-5 ——>
<l== G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-5 —>
{originalText>G. k. 4.r.9. 1</original Text>
<!=—— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-5 —>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
{!——= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-5 ——>
<{]== G.k.4.r.11.2b: Parent Route of Administration TermID #1-5 ——>
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<originalText>G. k. 4. r. 11. 1<{/originalText>
<)== G.k.4.r.11.1: Parent Route of Administration (free text) #1-5 —>
{/value>
</observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
(= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-6 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8</text>
{l—— G.k.4.r.8: Dosage Text #1-6 —>
<effectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="PIVL_TS”>
<{period value="10" unit="G.k.4.r.3"/>
<{!-= G.k.4.r.2: Number of Units in the Interval #1-6 ——>
<{!-= G.k.4.1.3: Definition of the Time Interval Unit #1-6 ——>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
<{]== G.k.4.r.4: Date and Time of Start of Drug #1-6 —>
<width value="4" unit="G.k.4.r.6b"/>
¢{l-= G.k.4.r.6a: Duration of Drug Administration (number) #1-6 ——>
¢(l-— G.k.4.r.6b: Duration of Drug Administration (unit) #1-6 ——>
</comp>
<{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
{l— G.k.4.1.5: Date and Time of Last Administration #1-6 —>
</comp>
{/effectiveTime>
<{routeCode code="G.k. 4. r.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<]== G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-6 ——>
<l=— G.k.4.1.10.2b: Route of Administration TermID #1-6 —>
<originalText>G. k. 4.r.10. 1</originalText>
<]== G.k.4.1.10.1: Route of Administration (free text) #1-6 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!—— G.k.4.r.1a Dose (number) #I1-1 —>
<]-= G.k.4.r.1b: Dose (unit) #1-1 —>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<I== G.k.4.r.7: Batch / Lot Number #1-1 ——>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-6 ——>
<l== G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-6 —>
<originalText>G. k.4.r.9. 1<{/originalText>
<!=— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-6 —>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
<{inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
<!== G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-6 ——>
<{!== G.k.4.r.11.2b: Parent Route of Administration TermID #1-6 ——>
<originalText>G. k. 4. r. 11. 1<{/originalText>
<)== G.k.4.r.11.1: Parent Route of Administration (free text) #1-6 —>
{/value>
</observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
(- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-7 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8</text>
{l—— G.k.4.r.8: Dosage Text #1-7 —>
<effectiveTime xsi:type="SXPR_TS”>
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<comp xsi:type="IVL_TS”>
<low value="20090101"/>
<]== G.k.4.r.4: Date and Time of Start of Drug #1-7 —>
<width value="4" unit="G.k.4.r.6b"/>
¢{l-= G.k.4.r.6a: Duration of Drug Administration (number) #1-7 —->
¢!-— G.k.4.r.6b: Duration of Drug Administration (unit) #1-7 ——>
</comp>
<{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
{l— G.k.4.1.5: Date and Time of Last Administration #1-7 ——>
</comp>
<{/effectiveTime>
<{routeCode code="G.k. 4. r.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
{!-= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-7 ——>
<l== G.k.4.1.10.2b: Route of Administration TermID #1-7 —>
<originalText>G. k. 4.r.10. 1</originalText>
{!-= G.k.4.1.10.1: Route of Administration (free text) #1-7 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!—— G.k.4.r.1a Dose (number) #1-7 —>
{!-= G.k.4.r.1b: Dose (unit) #1-7 ——>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<!-= G.k.4.r.7: Batch / Lot Number #1-7 ——>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-7 ——>
<l== G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-7 —>
{originalText>G. k. 4.r.9. 1</original Text>
<)== G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-7 ——>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
{!—— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-7 ——>
<]== G.k.4.r.11.2b: Parent Route of Administration TermID #1-7 —>
<originalText>G. k. 4. r. 11. 1<{/originalText>
<)== G.k.4.r.11.1: Parent Route of Administration (free text) #1-7 —>
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="SUMM”>
{observation classCode="0BS” moodCode="EVN">
<code code="14" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.19” displayName="cumulativeDoseToReaction”/>
<value xsi:type="PQ” value="10" unit="G.k.5b"/>
<!-—= G.k.5a: Cumulative Dose to First Reaction (number) #1 ——>
<{!-= G.k.5b: Cumulative Dose to First Reaction (unit) #1 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
{code code="16" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="G.k.6b”"/>
<!-= G.k.6a: Gestation Period at Time of Exposure (number) #1 ——>
<{!-— G.k.6b: Gestation Period at Time of Exposure (unit) #1 -—>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
{code code="31" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G.k.9.1i.4” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.16"/>
<!=—— G.k.9.1.4: Did Reaction Recur on Re—administration? Drug #1, Reaction #1 ——>
<outboundRelationshipl typeCode="REFR”>
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-4512-a02f-42d4d6f4657f" />
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{/actReference>
</outboundRelationshipl>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="31" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G.k.9.1i.4” codeSystem="2.16.840.1.113883.3.989.2.1.1.16"/>
<!=—— G.k.9.1.4: Did Reaction Recur on Re—administration? Drug #1, Reaction #2 ——>
<outboundRelationshipl typeCode="REFR”>
{actReference classCode="0BS” moodCode="EVN">
{id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220" />
</actReference>
</outboundRelationshipl>
<{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="codedDrugInformation”/>
<value xsi:type="CE” code="G.k.10.1r” codeSystem="2.16.840.1.113883.3.989.2.1.1.17"/>
<!-—= G.k.10.r: Additional Information on Drug (coded) (repeat as necessary) #1-1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="9” codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 19” displayName="codedDrugInformation”/>
<value xsi:type="CE” code="G.k.10.1” codeSystem="2.16.840.1.113883.3.989.2.1.1.17"/>
<!—— G.k.10.r: Additional Information on Drug (coded) (repeat as necessary) #1-2 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="additional Information”/>
<value xsi:type="ST”>G.k.11</value>
<]=—= G.k.11: Additional Information on Drug (free text) #1 —>
{/observation>
{/outboundRelationship2>
<{inboundRelationship typeCode="RSON”>
<observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="indication”/>
<value xsi:type="CE” code="G.k.7.r.2b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="G. k. 7.r.2a”>
{!-= G.k.7.r.2a: MedDRA Version for Indication #1-1 —>
<]-— G.k.7.r.2b: Indication (MedDRA code) #1-1 —>
<originalText>G. k. 7. r. 1<{/originalText>
{!== G.k.7.r.1: Indication as Reported by the Primary Source #1-1 —>
<{/value>
<performer typeCode="PRF”>
<assignedEntity classCode="ASSIGNED”>
{code code="3" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1. 21” displayName="sourceReporter”/>
{/assignedEntity>
<{/performer>
{/observation>
</inboundRelationship>
<inboundRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="indication”/>
<value xsi:type="CE” code="G.k.7.r.2b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="G.k.7.r.2a”>
{!-= G.k.7.r.2a: MedDRA Version for Indication #1-2 —>
<!-— G.k.7.r.2b: Indication (MedDRA code) #1-2 —>
<originalText>G. k. 7.r. 1<{/originalText>
{!== G.k.7.r.1: Indication as Reported by the Primary Source #1-2 —>
<{/value>
<performer typeCode="PRF”>
{assignedEntity classCode="ASSIGNED”>
<code code="3" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 21” displayName="sourceReporter”/>
{/assignedEntity>
</performer>
{/observation>
</inboundRelationship>
<{inboundRelationship typeCode="CAUS”>
<act classCode="ACT” moodCode="EVN">
<{code code="G.k.8” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.15"/>
<!-— G.k.8: Action(s) Taken with Drug #1 ——>
{/act>
</inboundRelationship>
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{/substanceAdministration>
</component>
<(!-= G.k Drug(s) Information (repeat as necessary) #2 ——>
<component typeCode="COMP”>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce~3b3b-45c7-92dd-69e06730c3a9” />
<{consumable typeCode="CSM”>
<instanceOfKind classCode="INST”>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.1.2b” codeSystem="TBD-PhPID” codeSystemVersion="G.k.2.1.2a”/>
<{!-= G.k.2.1.2a: PhPID Version Date / Number #2 —->
<!-= G.k.2.1.2b: Pharmaceutical Product Identifier (PhPID) #2 ——>
<name>G. k. 2. 2</name>
<l G.k.2.2: Medicinal Product Name as Reported by the Primary Source #2 —>
<asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SBJ”>
<approval classCode="CNTRCT” moodCode="EVN">
<id extension="G.k.3.1” root="2.16.840. 1. 113883.3.989.2.1.3.4"/>
{!-= G.k.3.1: Authorisation / Application Number #2 ——>
<author typeCode="AUT”>
{territorialAuthority classCode="TERR”>
<territory classCode="NAT” determinerCode="INSTANCE”>
{code code="G.k.3.2” codeSystem="1.0.3166.1.2.27/>
{l-- G.k.3.2: Country of Authorisation / Application #2 ——>
{/territory>
<{/territorialAuthority>
{/author>
<{pertinentInformation typeCode="PERT”>
<policy classCode="POLICY” moodCode="EVN">
<code code="J2.5.k” codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.4"/>
<1-- @@@J2. 5. k: —fRMEIEMEDY 27 X535 #2 —>
<{/policy>
</pertinentInformation>
</approval>
</subjectOf>
{subjectOf typeCode="SB]”>
{characteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883.3.989. 5. 1. 3.2. 1. 10” displayName="37[%3E 525 DIRPLIX 53" />
<value xsi:type="CE” code="J2.4.k” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.3"/>
<1-- 00@J2. 4. k: HEIMFEORIK 3 42 —>
{/characteristic>
</subjectOf>
<{/asManufacturedProduct>
<ingredient classCode="ACT1”>
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
<!-= G.k.2.3.r.3a: Strength (number) #2-1 ——>
<= G.k.2.3.1.3b: Strength (unit) #2-1 —>
<denominator value="1"/>
{/quantity>
{ingredientSubstance classCode="MMAT” determinerCode="KIND”>
<code code="G.k.2.3.1.2b" codeSystem="TBD-Substance” codeSystemVersion="G.k.2.3.r.2a”/>
<!—— G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date / Number #2-1 ——>
<]-= G.k.2.3.1.2b Substance / Specified Substance TermID #2-1 ——>
<{name>G. k. 2. 3. r. 1</name>
{!— G.k.2.3.r.1: Substance / Specified Substance Name #2-1 ——>
</ingredientSubstance>
<{/ingredient>
{ingredient classCode="ACT1”>
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
<{!-- G.k.2.3.r.3a: Strength (number) #2-2 —>
<= G.k.2.3.1.3b: Strength (unit) #2-2 —>
<{denominator value="1"/>
{/quantity>
{ingredientSubstance classCode="MMAT” determinerCode="KIND">
{code code="G.k.2.3.1.2b” codeSystem="TBD-Substance” codeSystemVersion="G. k. 2.3.r.2a”"/>
<]== G.k.2.3.7.2a: Substance / Specified Substance TermID Version Date/Number #2-2 ——>
{I—— G.k.2.3.r.2b Substance / Specified Substance TermID #2-2 ——>
<name>G. k. 2. 3. r. 1</name>
<= G.k.2.3.1.1: Substance / Specified Substance Name #2-2 —>
</ingredientSubstance>
{/ingredient>
</kindOfProduct>
{subjectOf typeCode="SB]”>
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<productEvent classCode="ACT” moodCode="EVN">
{code code="1" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 18” displayName="retailSupply”/>
{performer typeCode="PRF”">
<assignedEntity classCode="ASSIGNED”>
<{representedOrganization classCode="0ORG” determinerCode="INSTANCE”>
<addr>
<{country>G. k. 2. 4</country>
<l-= G.k.2.4: Identification of the Country Where the Drug Was Obtained #2 ——>
</addr>
<{/representedOrganization>
<{/assignedEntity>
</performer>
</productEvent>
<{/subjectOf>
{subjectOf typeCode="SB]”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="—#% £ 3&kt D A FAX " />
<value xsi:type="CE” code="]J2.6.k” codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.5"/>
<1-- 000J2. 6. k: —fRMEHLMDOATFRER #2 —>
<{/observationEvent>
<{/subjectOf>
{/instance0fKind>
</consumable>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
{!-— G.k.9.1i.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2
Reaction #1-—>
(== 6.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2
Reaction #1 ——>
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6f4657f" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
{!-— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #1 ——>

{l— 6.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #1 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6£4657F" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<l— G6.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2
Reaction #2 ——>
¢l-—= G6.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2
Reaction #2 ——>
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4eb6c-93e9-5b860b314220" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
¢l G6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #2 —-

{!-— G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #2 ——>
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4ebc-93e9-5b860b314220” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<!—— G.k.9.1i.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,
Reaction #3 ——>
(l— G6.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2
Reaction #3 ——>
{actReference classCode="0BS” moodCode="EVN">
<id root="3a8626ch-9f1b—4ea8-8a0f-e0ff34430adf” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<l—— 6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #3 ——
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Reaction #4 ——>

Reaction #4 ——>

Reaction #5 ——>

Reaction #5 ——>

Reaction #6 ——>

Reaction #6 ——>

Reaction #7 ——>

Reaction #7 ——>

<{!-= G.k.9.1.3.2b: Time Interval between Last Dose of
<actReference classCode="0BS” moodCode="EVN">
<id root="3a8626cb-9f1b-4ea8-8a0f-e0ff34430adf” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<l G.k.9.1.3.1a: Time Interval between Beginning of

{!=— G.k.9.1.3.1b: Time Interval between Beginning of

<actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4-499c-80ff-dd8415f4f8a5" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<J==G.k.9.1.3.2a: Time Interval between Last Dose of

<l— G.k.9.1.3.2b: Time Interval between Last Dose of
{actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4-499c-80ff-dd8415f4f8a5" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
(- G6.k.9.1.3.1a: Time Interval between Beginning of

<]-= 6.k.9.1.3.1b: Time Interval between Beginning of

<actReference classCode="0BS” moodCode="EVN">
<id root="1071064c—cf10-4a3b-83c1-34f9ddb7eabd” />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<{!-=G.k.9.1i.3.2a: Time Interval between Last Dose of

<{J==G.k.9.1.3.2b: Time Interval between Last Dose of
<actReference classCode="0BS” moodCode="EVN">
<id root="1071064c—cf10-4a3b-83c1-34f9ddb7eabd” />
{/actReference>
</outboundRelationship1>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
(== G.k.9.i.3.1a: Time Interval between Beginning of

(- G6.k.9.1.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-¢925640fb18f" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<{l— G.k.9.1.3.2a: Time Interval between Last Dose of

<{!-= G.k.9.1.3.2b: Time Interval between Last Dose of
<actReference classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-e925640fb18f" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<]-= 6.k.9.1.3.1a: Time Interval between Beginning of

<l G.k.9.1.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-b6bb-cel4bc279d8e” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<{J==G.k.9.1.3.2a: Time Interval between Last Dose of
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<= 6.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #7 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-b6bb—cel4bc279d8e” />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<l— G6.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2
Reaction #8 ——>
¢l G6.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2
Reaction #8 ——>
<actReference classCode="0BS” moodCode="EVN">
<id root="al5be092-8070-426d-af04-6863263443¢0”/>
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
¢l-— G6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #8 —-

>
¢l-= G6.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #8 ——>
<actReference classCode="0BS” moodCode="EVN">
<id root="albbe092-8070-426d-af04-6863263443¢0” />
{/actReference>
</outboundRelationshipl>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
{code code="6" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="blinded”/>
<value xsi:type="BL” value="true”/>
<= G.k.2.5: Investigational Product Blinded #2 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{!== G.k.4.r : Dosage and Relevant Information (repeat as necessary) #2-1 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8¢/text>
<{l== G.k.4.r.8: Dosage Text #2-1 —>
{effectiveTime xsi:type="IVL_TS”>
{low value="20090101"/>
<= G.k.4.r.4: Date and Time of Start of Drug #2-1 —>
<high value="20090101"/>
{!-= G.k.4.r.5: Date and Time of Last Administration #2-1 ——>
<{/effectiveTime>
<{routeCode code="G.k. 4. r.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<]== G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-1 —>
<l=— G.k.4.1.10.2b: Route of Administration TermID #2-1 —>
<originalText>G. k. 4.r.10. 1</originalText>
<]== G.k.4.1.10.1: Route of Administration (free text) #2-1 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!—— G.k.4.r.1a Dose (number) #2-1 —>
{!-= G.k.4.r.1b: Dose (unit) #2-1 ——>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<!== G.k.4.1.7: Batch / Lot Number #2-1 ——>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-1 ——>
<l== G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-1 —>
{originalText>G. k. 4.r.9. 1</original Text>
<!=—— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-1 —>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">

{!——= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-1 ——>
<{]== G.k.4.r.11.2b: Parent Route of Administration TermID #2-1 ——>
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<originalText>G. k. 4. r. 11. 1<{/originalText>
<)== G.k.4.r.11.1: Parent Route of Administration (free text) #2-1 —>
{/value>
</observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
(- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-2 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8</text>
{!—— G.k.4.r.8: Dosage Text #2-2 —>
<{effectiveTime xsi:type="IVL_TS”>
<Jow value="20090101"/>
{!—— G.k.4.1.4: Date and Time of Start of Drug #2-2 —>
<width value="4" unit="G.k. 4.r.6b"/>
<= G.k.4.r.6a: Duration of Drug Administration (number) #2-2 —>
<!-= G.k.4.r.6b: Duration of Drug Administration (unit) #2-2 ——>
{/effectiveTime>
<{routeCode code="G. k. 4.r.10.2b” codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
{!-= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-2 —->
<]== G.k.4.1.10.2b: Route of Administration TermID #2-2 ——>
<originalText>G. k. 4. r.10. 1<{/originalText>
<{l-= G.k.4.1.10.1: Route of Administration (free text) #2-2 ——>
<{/routeCode>
<{doseQuantity value="10" unit="G.k.4.r.1b"/>
{!-= G.k.4.r. la Dose (number) #2-2 ——>
<!-—— G.k.4.r.1b: Dose (unit) #2-2 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<{JotNumberText>G. k. 4. r. 7</lotNumberText>
{!—— G.k.4.r.7: Batch / Lot Number #2-2 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 —->
<l=— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-2 —>
<originalText>G. k. 4.r.9. 1<{/originalText>
{!-= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-2 ——>
<{/formCode>
</kindOfProduct>
<{/instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
<!-= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-2 ——>
<]== G.k.4.r.11.2b: Parent Route of Administration TermID #2-2 —>
<originalText>G. k. 4. r. 11. 1<{/originalText>
<!== G.k.4.1.11.1: Parent Route of Administration (free text) #2-2 ——>
<{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
¢{l-—= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-3 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8¢/text>
<l=— G.k.4.r.8: Dosage Text #2-3 —>
<{effectiveTime xsi:type="IVL_TS”>
<width value="4" unit="G.k. 4.r.6b"/>
<= G.k.4.r.6a: Duration of Drug Administration (number) #2-3 —>
<!-= G.k.4.r.6b: Duration of Drug Administration (unit) #2-3 ——>
<high value="20090101"/>
<!-= G.k.4.1.5: Date and Time of Last Administration #2-3 ——>
<{/effectiveTime>
<routeCode code="G. k. 4.r.10.2b” codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<!=—— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-3 —>
<{!-= G.k.4.1.10.2b: Route of Administration TermID #2-3 ——>
<originalText>G. k. 4. . 10. 1</originalText>
<!-= G.k.4.r.10.1: Route of Administration (free text) #2-3 ——>
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</routeCode>
<{doseQuantity value="10" unit="G.k.4.r.1b"/>
{!-= G.k.4.r. la Dose (number) #2-3 ——>
<{I=—= G.k.4.r.1b: Dose (unit) #2-3 —>
{consumable typeCode="CSM”>
{instanceOfKind classCode="INST”>
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{dotNumberText>G. k. 4. r. 7</lotNumberText>
<{!== G.k.4.1.7: Batch / Lot Number #2-3 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
<l== G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-3 —>
<{!-= G.k.4.71.9.2b: Pharmaceutical Dose Form TermID #2-3 ——>
<originalText>G. k. 4. r.9. 1</original Text>
<{l-= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-3 ——>
</formCode>
</kindOfProduct>
{/instanceOfKind>
<{/consumable>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
<]== G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-3 ——>
<!== G.k.4.1.11.2b: Parent Route of Administration TermID #2-3 ——>
<originalText>G. k. 4. r. 11. 1<{/originalText>
¢!-= G.k.4.r.11.1: Parent Route of Administration (free text) #2-3 ——>
{/value>
</observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{l-= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-4 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
<!== G.k.4.r.8: Dosage Text #2-4 ——>
CeffectiveTime xsi:type="SXPR_TS”>
<{comp xsi:type="PIVL_TS”>
{period value="10" unit="G.k.4.r.3"/>
{]== G.k.4.1.2: Number of Units in the Interval #2-4 —>
<{!== G.k.4.r.3: Definition of the Time Interval Unit #2-4 —>
</comp>
{comp xsi:type="IVL_TS” operator="A">
<{low value="20090101"/>
{]=—= G.k.4.r.4: Date and Time of Start of Drug #2-4 —>
</comp>
{/effectiveTime>
<{routeCode code="G. k. 4.r.10.2b” codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
{!-= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-4 ——>
<]== G.k.4.1.10.2b: Route of Administration TermID #2-4 ——>
<originalText>G. k. 4. r.10. 1<{/originalText>
<{l--= G.k.4.1.10.1: Route of Administration (free text) #2-4 ——>
<{/routeCode>
<{doseQuantity value="10" unit="G.k.4.r.1b"/>
{!-= G.k.4.r. la Dose (number) #2-4 ——>
<!=—— G.k.4.r.1b: Dose (unit) #2-4 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<{JotNumberText>G. k. 4. r. 7</lotNumberText>
{!—— G.k.4.r.7: Batch / Lot Number #2-4 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-4 ——>
<l=— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-4 —>
<originalText>G. k. 4.r.9. 1<{/original Text>
{!-= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-4 ——>
<{/formCode>
</kindOfProduct>
<{/instanceOfKind>
</consumable>
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<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
<!-= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-4 ——>
<]== G.k.4.r.11.2b: Parent Route of Administration TermID #2-4 —>
<originalText>G. k. 4. r.11.1<{/originalText>
<!== G.k.4.1.11.1: Parent Route of Administration (free text) #2-4 ——>
<{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
¢{!-—= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-5 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8¢/text>
<{l== G.k.4.r.8: Dosage Text #2-5 —>
{effectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="PIVL_TS”>
{period value="10" unit="G.k.4.r.3”/>
<{I== G.k.4.r.2: Number of Units in the Interval #2-5 ——>
<{!-= G.k.4.1.3: Definition of the Time Interval Unit #2-5 ——>
</comp>
<{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
{l— G.k.4.1.5: Date and Time of Last Administration #2-5 ——>
</comp>
{/effectiveTime>
<{routeCode code="G.k. 4. r.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<]== G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-5 ——>
<l== G.k.4.1.10.2b: Route of Administration TermID #2-5 —>
<originalText>G. k. 4.r.10. 1</originalText>
<]== G.k.4.1.10.1: Route of Administration (free text) #2-5 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!—— G.k.4.r.1a Dose (number) #2-5 —>
<]-= G.k.4.r.1b: Dose (unit) #2-5 —>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<!== G.k.4.1.7: Batch / Lot Number #2-5 ——>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-5 ——>
<l== G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-5 —>
<originalText>G. k.4.r.9. 1<{/originalText>
<!=— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-5 —>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
<{inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
<!== G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-5 ——>
<{]== G.k.4.r.11.2b: Parent Route of Administration TermID #2-5 ——>
<originalText>G. k. 4. r. 11. 1<{/originalText>
<)== G.k.4.r.11.1: Parent Route of Administration (free text) #2-5 —>
{/value>
</observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
(= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-6 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8</text>
{l—— G.k.4.r.8: Dosage Text #2-6 —>
<effectiveTime xsi:type="SXPR_TS”>

-39 —



<comp xsi:type="PIVL_TS”>
<{period value="10" unit="G.k.4.r.3"/>
<{!-== G.k.4.r.2: Number of Units in the Interval #2-6 ——>
<{!-= G.k.4.1.3: Definition of the Time Interval Unit #2-6 ——>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/>
¢{l-= G.k.4.r.6a: Duration of Drug Administration (number) #2-6 ——>
(= G.k.4.r.6b: Duration of Drug Administration (unit) #2-6 ——>
</comp>
{/effectiveTime>
<{routeCode code="G. k. 4.r.10.2b” codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<]== G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-6 —>
<]== G.k.4.1.10.2b: Route of Administration TermID #2-6 ——>
<originalText>G. k. 4. 1. 10. 1</originalText>
<{l-— G.k.4.1.10.1: Route of Administration (free text) #2-6 ——>
</routeCode>
<{doseQuantity value="10" unit="G.k.4.r.1b"/>
{!-= G.k.4.r. la Dose (number) #2-6 ——>
<!-—— G.k.4.r.1b: Dose (unit) #2-6 —>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<{lotNumberText>G. k. 4. r. 7</lotNumberText>
{!—— G.k.4.r.7: Batch / Lot Number #2-6 —>
<{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-6 ——>
{!-= G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-6 —>
<originalText>G. k. 4.r.9. 1</originalText>
{!-= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-6 ——>
<{/formCode>
</kindOfProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
<!-= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-6 ——>
<]== G.k.4.r.11.2b: Parent Route of Administration TermID #2-6 —>
<originalText>G. k. 4. r.11.1<{/originalText>
<!== G.k.4.r.11.1: Parent Route of Administration (free text) #2-6 ——>
<{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{l-—= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-7 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8¢/text>
<{l== G.k.4.r.8: Dosage Text #2-7 —>
<{effectiveTime xsi:type="PIVL_TS”>
<period value="10" unit="G.k.4.r.3"/>
<!== G.k.4.r.2: Number of Units in the Interval #2-7 ——>
<!== G.k.4.1.3: Definition of the Time Interval Unit #2-7 ——>
{/effectiveTime>
<routeCode code="G. k. 4.r.10.2b” codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<]== G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-7 —>
<]== G.k.4.1.10.2b: Route of Administration TermID #2-7 ——>
<originalText>G. k. 4. . 10. 1</originalText>
<{l-— G.k.4.1.10.1: Route of Administration (free text) #2-7 ——>
</routeCode>
<{doseQuantity value="10" unit="G.k.4.r.1b"/>
{!-= G.k.4.r. la Dose (number) #2-7 ——>
<!-—— G.k.4.r.1b: Dose (unit) #2-7 —>
{consumable typeCode="CSM”>
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<{lotNumberText>G. k. 4. r. 7</lotNumberText>
{!—— G.k.4.r.7: Batch / Lot Number #2-7 —>
<{/productInstancelnstance>
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<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-7 —->
{!-= G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-7 ——>
<originalText>G. k. 4.r.9. 1</originalText>
<l-= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-7 ——>
<{/formCode>
</kindOfProduct>
</instanceOfKind>
<{/consumable>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r

11.2a">
<!-= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-7 ——>
<!== G.k.4.1.11.2b: Parent Route of Administration TermID #2-7 ——>
<originalText>G. k. 4. r.11.1<{/originalText>
¢!-= G.k.4.r.11.1: Parent Route of Administration (free text) #2-7 ——>
<{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{l-= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-8 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
<l== G.k.4.r.8: Dosage Text #2-8 —>
CeffectiveTime xsi:type="IVL_TS”>
{low value="20090101"/>
<= G.k.4.r.4: Date and Time of Start of Drug #2-8 —>
<{/effectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<]== G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-8 ——>
<l== G.k.4.r.10.2b: Route of Administration TermID #2-8 ——>
<originalText>G. k. 4.r.10. 1</originalText>
<!-=— G.k.4.r.10.1: Route of Administration (free text) #2-8 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!—— G.k.4.r.1a Dose (number) #2-8 —>
{!-= G.k.4.r.1b: Dose (unit) #2-8 ——>
{consumable typeCode="CSM”>
<instanceOfKind classCode="INST”>
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<I== G.k.4.1.7: Batch / Lot Number #2-8 ——>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
<)== G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-8 —>
<{!-= G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-8 ——>
{originalText>G. k. 4.r.9. 1</original Text>
<{!-= G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-8 ——>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 14” codeSystemVersion="G. k. 4. r.
11.2a">

{!——= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-8 ——>
<!== G.k.4.r.11.2b: Parent Route of Administration TermID #2-8 ——>
<originalText>G. k. 4. r. 11. 1<{/originalText>
<!-— G.k.4.r.11.1: Parent Route of Administration (free text) #2-8 ——>
{/value>
<{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
{!—— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-9 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
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{text>G. k. 4. 1. 8</text>
{l—— G.k.4.r.8: Dosage Text #2-9 —>
{effectiveTime xsi:type="IVL_TS”>
<high value="20090101"/>
<l-= G.k.4.r.5: Date and Time of Last Administration #2-9 ——>
{/effectiveTime>
<{routeCode code="G. k. 4.r.10.2b” codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<]== G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-9 —>
<{!-= G.k.4.1.10.2b: Route of Administration TermID #2-9 ——>
<originalText>G. k. 4. 1. 10. 1</originalText>
<{l-= G.k.4.1.10.1: Route of Administration (free text) #2-9 ——>
<{/routeCode>
<{doseQuantity value="10" unit="G.k.4.r.1b"/>
{!-= G.k.4.r. la Dose (number) #2-9 ——>
<!-— G.k.4.r.1b: Dose (unit) #2-9 —>
{consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<{lotNumberText>G. k. 4. r. 7</lotNumberText>
{!——= G.k.4.r.7: Batch / Lot Number #2-9 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-9 —->
<l=— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-9 —>
<originalText>G. k. 4.r.9. 1</originalText>
{!-= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-9 ——>
<{/formCode>
</kindOfProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
<{!-= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-9 ——>
<]== G.k.4.r.11.2b: Parent Route of Administration TermID #2-9 —>
<originalText>G. k. 4. r.11.1<{/originalText>
<!== G.k.4.1.11.1: Parent Route of Administration (free text) #2-9 ——>
<{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
¢(l-—= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-10 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
<{!-= G.k.4.r.8: Dosage Text #2-10 —>
{effectiveTime xsi:type="IVL_TS”>
<width value="4" unit="G.k. 4.r.6b"/>
{!== G.k.4.r.6a: Duration of Drug Administration (number) #2-10 —>
<!-= G.k.4.r.6b: Duration of Drug Administration (unit) #2-10 ——>
{/effectiveTime>
<{routeCode code="G. k. 4.r.10.2b” codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r. 10. 2a”>
<l== G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-10 ——>
<{!-= G.k.4.1.10.2b: Route of Administration TermID #2-10 —>
<originalText>G. k. 4. 1. 10. 1<{/originalText>
<l-— G.k.4.1.10.1: Route of Administration (free text) #2-10 ——>
</routeCode>
<{doseQuantity value="10" unit="G.k.4.r.1b"/>
{!-= G.k.4.r. la Dose (number) #2-10 —>
<)== G.k.4.r.1b: Dose (unit) #2-10 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<{lotNumberText>G. k. 4. r. 7</lotNumberText>
<!—— G.k.4.r.7: Batch / Lot Number #2-10 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
{!-= G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-10 ——>
<l=— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-10 —>
<originalText>G. k. 4.r.9. 1<{/originalText>
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{!-= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-10 ——>
<{/formCode>
</kindOfProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 19” displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14” codeSystemVersion="G. k. 4. r
11.2a">
<!-= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-10 ——>
<{]== G.k.4.r.11.2b: Parent Route of Administration TermID #2-10 —>
<originalText>G. k. 4. r.11.1<{/originalText>
<!== G.k.4.1.11.1: Parent Route of Administration (free text) #2-10 ——>
<{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="SUMM”>
{observation classCode="0BS” moodCode="EVN">
<code code="14" codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="cumulativeDoseToReaction”/>
<value xsi:type="PQ” value="10" unit="G.k.5b"/>
<!-— G.k.5a: Cumulative Dose to First Reaction (number) #2 —>
<{!-—— G.k.5b: Cumulative Dose to First Reaction (unit) #2 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="16" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="G.k.6b"/>
<]— G.k.6a: Gestation Period at Time of Exposure (number) #2 —>
<!-— G.k.6b: Gestation Period at Time of Exposure (unit) #2 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="31" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G.k.9.1i.4” codeSystem="2.16.840.1.113883.3.989.2.1.1.16"/>
<!=—— G.k.9.1.4: Did Reaction Recur on Re—administration? Drug #2, Reaction #1 ——>
<outboundRelationshipl typeCode="REFR”>
<actReference classCode="0BS” moodCode="EVN">
{id root="154eb889-958b-45f2-a02f-42d4d6f4657f" />
</actReference>
</outboundRelationshipl>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="31" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G.k.9.1i.4” codeSystem="2.16.840.1.113883.3.989.2.1.1.16"/>
<!-= G.k.9.1.4: Did Reaction Recur on Re—administration? Drug #2, Reaction #2 ——>
<outboundRelationshipl typeCode="REFR”>
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220" />
<{/actReference>
</outboundRelationshipl>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
{code code="9” codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="codedDrugInformation”/>
<value xsi:type="CE” code="G.k.10.1” codeSystem="2.16.840.1.113883.3.989.2.1.1.17"/>
{!—— G.k.10.r: Additional Information on Drug (coded) (repeat as necessary) #2-1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19” displayName="codedDrugInformation”/>
<value xsi:type="CE” code="G.k.10.r” codeSystem="2.16.840.1.113883.3.989.2.1.1.17"/>
<l=— G.k.10.r: Additional Information on Drug (coded) (repeat as necessary) #2-2 —>
<{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
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<code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="additionalInformation”/>
<value xsi:type="ST”>G. k. 11</value>
¢!-= G.k.11: Additional Information on Drug (free text) #2 ——>
{/observation>
</outboundRelationship2>
{inboundRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
<{code code="19” codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 19” displayName="indication”/>
<value xsi:type="CE” code="G.k.7.r.2b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="G. k. 7.r.2a”>
<l=— G.k.7.r.2a: MedDRA Version for Indication #2-1 —>
<l-= G.k.7.1.2b: Indication (MedDRA code) #2-1 ——>
<originalText>G. k. 7.r. 1<{/originalText>
{!-—= G.k.7.r.1: Indication as Reported by the Primary Source #2-1 —>
</value>
<{performer typeCode="PRF”>
<assignedEntity classCode="ASSIGNED”>
<code code="3" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 21” displayName="sourceReporter”/>
<{/assignedEntity>
</performer>
<{/observation>
</inboundRelationship>
<inboundRelationship typeCode="RSON”>
<observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="indication”/>
<value xsi:type="CE” code="G.k.7.r.2b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="G. k. 7.r.2a”>
<!-= G.k.7.r.2a: MedDRA Version for Indication #2-2 ——>
<]== G.k.7.1.2b: Indication (MedDRA code) #2-2 ——>
<originalText>G. k. 7.r. 1<{/originalText>
{!-= G.k.7.r.1: Indication as Reported by the Primary Source #2-2 ——>
<{/value>
<{performer typeCode="PRF”>
<assignedEntity classCode="ASSIGNED”>
{code code="3" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 21” displayName="sourceReporter”/>
{/assignedEntity>
</performer>
{/observation>
</inboundRelationship>
<{inboundRelationship typeCode="CAUS”>
<act classCode="ACT” moodCode="EVN">
<code code="G.k.8” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.15"/>
<{!—— G.k.8: Action(s) Taken with Drug #2 —>
{/act>
</inboundRelationship>
</substanceAdministration>
</component>
<{/organizer>
</subject0f2>
{subjectOf2 typeCode="SBJ”>
<organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSystem="2. 16.840. 1. 113883. 3.989. 5. 1.3.2. 1. 11" displayName="{55R DHFL"/>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="7" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="J@ HR%" />
<value xsi:type="INT” value="1"/>
<l-- @0@)2. 13.7. 1+ JEHEEL #1 —>
<{/observation>
</component>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
{code code="8" codeSystem="2.16.840. 1. 113883.3.989. 5. 1.3.2.1. 10" displayName="xfG L H" />
<value xsi:type="ED”>J2.13.r.2<{/value>
<1-- 000J2.13.r.2: XRHH #1 —>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<{code code="9" codeSystem="2.16.840. 1. 113883.3.989. 5. 1.3.2.1.10” displayName="BH3&+H"/>
<value xsi:type="CE” code="]J2.13.r.3” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.7"/>
<I— @0@J2.13.v.3: BA¥M #1 —>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<{code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="FZLth O JEF| DA H" />
<value xsi:type="BL” value="true”/>
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<1—000J2.13. r. 4: FIEPOIEFIOAME 1 —>
<{/observation>
</component>
</organizer>
<{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<{organizer classCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1. 11" displayName="JRERDILZE"/>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="7" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 10” displayName="}ifi tH[a]%Z" />
<value xsi:type="INT” value="1"/>
<1--00@J2.13.r. 1: Ja % #2 —>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2. 16.840. 1. 113883.3.989. 5. 1.3.2.1.10” displayName=">5H"/>
<value xsi:type="ED”>J2.13.r.2<{/value>
<1 @0@J2.13. 1.2 REIRHE #2 —>
</observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<{code code="9” codeSystem="2.16.840. 1. 113883. 3.989. 5. 1. 3. 2. 1.10” displayName="BH3&+H"/>
<value xsi:type="CE” code="J2.13.r.3” codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.7"/>
<1 00@J2.13.v.3: BHFEAR #2 —>
<{/observation>
</component>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1.3.2. 1. 10” displayName="4 3L+ DIEH| D AHEE" />
<value xsi:type="BL” value="false”/>
<I-- 000J2. 13.r.4: FEIEPOREFOFEE 2 —>
{/observation>
</component>
{/organizer>
<{/subject0f2>
{/primaryRole>
<{/subjectl>
<{component typeCode="COMP”>
<causalityAssessment classCode="0BS” moodCode="EVN">
{code code="20" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1. 19” displayName="interventionCharacterization”/>
<value xsi:type="CE” code="G.k.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.13"/>
<l=—= G.k.1: Characterisation of Drug Role Drug #1 —>
{subject?2 typeCode="SUBJ”>
{productUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c¢30-67671b0ef9ed” />
</productUseReference>
</subject2>
{/causalityAssessment>
{/component>
<component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="20" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="interventionCharacterization”/>
<value xsi:type="CE” code="G.k.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.13"/>
{!-— G.k.1: Characterisation of Drug Role Drug #2 ——>
<subject2 typeCode="SUBJ”>
<{productUseReference classCode="SBADM” moodCode="EVN”>
<id root="68d6f5ce-3b3b-45c7-92dd-69e06730c3a9” />
</productUseReference>
<{/subject2>
{/causalityAssessment>
</component>
<component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="39" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” displayName="causality”/>
<value xsi:type="ST”>G.k.9.1i.2.r.3<{/value>
(1= G6.k.9.1.2.r.3: Result of Assessment Drug #1, Reaction #1, Assessment #1 ——>
<methodCode>
<originalText>G.k.9.1.2.1.2<{/originalText>
<l== G.k.9.1.2.r.2: Method of Assessment Drug #1, Reaction #1, Assessment #l ——>
</methodCode>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
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{code>
<originalText>G.k.9.1i.2.r. 1</originalText>
<l 6.k.9.1.2.r.1: Source of Assessment Drug #1, Reaction #1, Assessment #1 ——>
</code>
<{/assignedEntity>
</author>
{subjectl typeCode="SUBJ”>
<adverseEffectReference classCode="0BS” moodCode="EVN">
{id root="154eb889-958b-45f2-a02f-42d4d6f4657f" />
<{/adverseEffectReference>
</subject1>
{subject?2 typeCode="SUBJ”>
<{productUseReference classCode="SBADM” moodCode="EVN">
{id root="3c91b4d5-¢039-4a7a-9c30-67671b0ef9ed” />
</productUseReference>
</subject2>
{/causalityAssessment>
</component>
<component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="causality”/>
<value xsi:itype="ST”>G.k.9.1i.2.r.3</value>
<1-=G.k.9.1i.2.r.3: Result of Assessment Drug #1, Reaction #2, Assessment #1 ——>
<methodCode>
<originalText>G.k.9.1i.2.r.2<{/originalText>
<!-=G.k.9.1i.2.1.2: Method of Assessment Drug #1, Reaction #2, Assessment #l ——>
</methodCode>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
{code>
<originalText>G. k.9.1i.2.r.1<{/originalText>
1= G6.k.9.1.2.r.1: Source of Assessment Drug #1, Reaction #2, Assessment #1 ——>
<{/code>
{/assignedEntity>
</author>
{subjectl typeCode="SUBJ”>
{adverseEffectReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220” />
</adverseEffectReference>
<{/subject1>
{subject?2 typeCode="SUBJ”>
{productUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c30-67671b0ef9ed” />
</productUseReference>
</subject2>
{/causalityAssessment>
{/component>
<component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” displayName="causality”/>
<value xsi:type="ST”>G.k.9.1i.2.r.3</value>
<1--G.k.9.1.2.r.3: Result of Assessment Drug #2, Reaction #2, Assessment #1 ——>
<methodCode>
<originalText>G.k.9.1i.2.r.2</originalText>
<1--6.k.9.1.2.1.2: Method of Assessment Drug #2, Reaction #2, Assessment #1 ——>
<{/methodCode>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
{code>
<originalText>G.k.9.1i.2.r. 1<{/originalText>
1= G6.k.9.1.2.r.1: Source of Assessment Drug #2, Reaction #2, Assessment #1 ——>
<{/code>
</assignedEntity>
<{/author>
<subjectl typeCode="SUBJ">
<adverseEffectReference classCode="0BS” moodCode="EVN">
<{id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220" />
{/adverseEffectReference>
<{/subjectl>
{subject2 typeCode="SUBJ”>
<productUseReference classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce-3b3b-45c¢7-92dd-69¢06730c3a9” />
{/productUseReference>
<{/subject2>
{/causalityAssessment>
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</component>
<{component typeCode="COMP”>
<causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="causality”/>
<value xsi:type="ST”>G.k.9.1i.2.r.3</value>
<1-=G.k.9.1.2.r.3: Result of Assessment Drug #2, Reaction #2, Assessment #2 ——>
<methodCode>
<originalText>G.k.9.1i.2.r.2</originalText>
<1-=G.k.9.1.2.1.2: Method of Assessment Drug #2, Reaction #2, Assessment #2 ——>
<{/methodCode>
<author typeCode="AUT”>
{assignedEntity classCode="ASSIGNED”>
{code>
<originalText>G.k.9.1i.2.r. 1<{/originalText>
(= G.k.9.1.2.r.1: Source of Assessment Drug #2, Reaction #2, Assessment #2 ——>
{/code>
</assignedEntity>
</author>
<subjectl typeCode="SUBJ”>
<adverseEffectReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b3142207 />
</adverseEffectReference>
<{/subject1>
<subject2 typeCode="SUBJ”>
<{productUseReference classCode="SBADM” moodCode="EVN”>
<{id root="68d6f5ce-3b3b-45c7-92dd-69e06730c3a9” />
</productUseReference>
<{/subject2>
{/causalityAssessment>
</component>
<componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED”>H. 2<{/value>
<!—— H.2: Reporter’s Comments ——>
<author typeCode="AUT”>
CassignedEntity classCode="ASSIGNED”>
{code code="3" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 21” displayName="sourceReporter”/>
<{/assignedEntity>
</author>
{/observationEvent>
{/component1>
<{componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="15" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="diagnosis”/>
<value xsi:type="CE” code="H.3.r.1b” codeSystem="2.16.840. 1. 113883. 6. 163” codeSystemVersion="H. 3. r. 1la”/>
<l—= H.3.7r.1la: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #1 ——>
<= H.3.7r.1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA code) #1 —>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
{code code="1" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 21” displayName="sender”/>
{/assignedEntity>
</author>
{/observationEvent>
{/component1>
<{componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="15" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” displayName="diagnosis”/>
<value xsi:type="CE” code="H.3.r.1b” codeSystem="2.16.840. 1. 113883. 6. 163” codeSystemVersion="H. 3. r. 1la”/>
<l=—= H.3.7r.1la: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #2 ——>
<= H.3.7r.1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA code) #2 —>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
{code code="1" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 21” displayName="sender”/>
{/assignedEntity>
</author>
{/observationEvent>
{/component1>
<{componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED”>H. 4</value>
<!-=H.4: Sender’s Comments ——>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
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<code code="1" codeSystem="2.16. 840. 1. 113883. 3. 989.2.1.1.21”7
<{/assignedEntity>
</author>
{/observationEvent>
</component1>
<componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.10” displayName="R5E TIZxT D=2 A />
<value xsi:type="ED”>]J2.7.2</value>
<—000J2.7.2: RETITHFTDLIAS T —>
{/observationEvent>
</component1>
<componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="4" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="J& it Ol } A" />
<value xsi:type="ED”>J2.9</value>
= @0eJ2.9: JEYEDOWKRAE —>
{/observationEvent>
{/component1>
<{componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="5" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2.1.10”
<value xsi:type="ED”>J2.10</value>
<I-- 0@@J2.10: 5% D% —>
{/observationEvent>
</component1>
<component1 typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
" codeSystem="2. 16. 840. 1. 113883. 3.989.5. 1. 3. 2. 1. 10” displayName="% D23 H1H%" />

—

displayName="sender”/>

(=

displayName="41% D %hs” />

{code code="6"
<value xsi:type="ED”>J2.11<{/value>
<I-- @eej2.11: DB EHIEE —>
{/observationEvent>
</component1>
<componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1. 10" displayName="$R5NEDEL"/>
<value xsi:type="ED”>]J2.16</value>
<1— 000J2. 16: WMENEDOEIL —>
{/observationEvent>
</component1>
<{componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="13" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1. 10" displayName="{{i#&1"/>
<value xsi:type="ED”>J2.19</value>
<d— 0eej2.19: fH*x1 —>
{/observationEvent>
{/component1>
<component1 typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="14" codeSystem="2. 16.840. 1. 113883. 3. 989.5. 1. 3.2. 1. 10” displayName="{{i#&2"/>
<value xsi:type="ED”>J2.20</value>
<1— @00J2.20: fiE2 —>
{/observationEvent>
</component1>
<componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="15" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2. 1. 10” displayName="{{i#&3"/>
<value xsi:type="ED”>]J2.21<{/value>
- @e@j2.21: fii#&E3 —>
{/observationEvent>
</component1>
<componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="16" codeSystem="2.16.840. 1. 113883. 3. 989.5. 1. 3. 2.
<value xsi:type="ED”>]J2.22</value>
<d— @eej2.22: fH*4 —>
{/observationEvent>
{/component1>
{/adverseEventAssessment>
</component>
<component typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="additionalDocumentsAvailable”/>
<value xsi:type="BL” value="true”/>
<]-= C.1.6.1: Are Additional Documents Available? ——>

—

.10” displayName="{i§#%4" />
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{/observationEvent>
</component>
<component typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<{code code="23" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.19” displayName="localCriteriaForExpedited”/>
<value xsi:type="BL” value="true”/>
{!-— C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —>
{/observationEvent>
</component>
{component typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="36" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19”7 displayName="summaryAndComment” />
<value xsi:type="ED” language="H.5.r.1b">H. 5. r. 1a{/value>
<l=— H.5.r.1a: Case Summary and Reporter’s Comments Text #1 ——>
{!-— H.5.1.1b: Case Summary and Reporter’s Comments Language #1 ——>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
{code code="2" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.21” displayName="reporter”/>
{/assignedEntity>
<{/author>
{/observationEvent>
</component>
{component typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="36" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19”7 displayName="summaryAndComment” />
<value xsi:type="ED” language="H.5.r.1b">H. 5. r. 1a{/value>
<= H.5.r.1a: Case Summary and Reporter’s Comments Text #2 ——>
{!-— H.5.1.1b: Case Summary and Reporter’s Comments Language #2 ——>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
{code code="2" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.21” displayName="reporter”/>
{/assignedEntity>
<{/author>
{/observationEvent>
</component>
<outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 22” displayName="initialReport”/>
<{subject0f2 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT”>
CassignedEntity classCode="ASSIGNED”>
{code code="C.1.8.2” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.3"/>
{]-=C.1.8.2: First Sender of This Case ——>
</assignedEntity>
<{/author>
{/controlActEvent>
<{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nullFlavor="NA"/>
<{subject0f2 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<{id extension="C.1.10.r” root="2.16.840. 1. 113883.3.989.2.1.3.2"/>

<!== C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary)

{/controlActEvent>
<{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nullFlavor="NA"/>
<subject0f2 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.r” root="2.16.840. 1. 113883.3.989.2.1.3.2"/>

¢!-— C.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary)

<{/controlActEvent>
<{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
{priorityNumber value="1"/>
(!-—— C.2.r.5: Primary Source for Regulatory Purposes #1 ——>
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{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code code="2" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 22” displayName="sourceReport”/>
{subject0f2 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT”>
CassignedEntity classCode="ASSIGNED”>
<addr>
{streetAddressLine>C. 2. r. 2. 3¢/streetAddressLine>
<l=—C.2.1.2.3: Reporter’s Street #1 —>
<city>C.2.1.2.4</city>
{]==C.2.1.2.4: Reporter’s City #1 —>
<{state>C. 2. 1. 2.5{/state>
<l-=(C.2.1r.2.5: Reporter’s State or Province #1 ——>
<{postalCode>C. 2. r. 2. 6</postalCode>
<l-= (C.2.1.2.6: Reporter’ s Postcode #1 ——>
</addr>
{telecom value="tel:C.2.1.2.77/>
(l-= (C.2.1.2.7: Reporter’s Telephone #1 ——>
<assignedPerson classCode="PSN” determinerCode="INSTANCE”>
<name>
<prefix>C. 2.r. 1. 1</prefix>
<= C.2.r.1.1: Reporter’s Title #1 —>
<{given>C. 2. 1. 1.2</given>
{!-= C.2.1.1.2: Reporter’s Given Name #1 ——>
<{given>C.2.1.1.3</given>
<!-=C.2.r.1.3: Reporter’s Middle Name #1 —->
<{family>C. 2. 1. 1. 4</family>
<!-= C.2.r.1.4: Reporter’ s Family Name #1 ——>
</name>
<asQualifiedEntity classCode="QUAL”>
<code code="C.2.1.4” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.6"/>
<!-= C.2.r.4: Qualification #1 ——>
<{/asQualifiedEntity>
<asLocatedEntity classCode="LOCE”>
<location classCode="COUNTRY” determinerCode="INSTANCE”>
{code code="C.2.r.3” codeSystem="1.0.3166.1.2.27/>
¢l==C.2.1.3: Reporter’s Country Code #1 ——>
<{/location>
</asLocatedEntity>
{/assignedPerson>
{representedOrganization classCode="0ORG” determinerCode="INSTANCE”>
<name>C. 2. r. 2. 2{/name>
<l-— (C.2.1.2.2: Reporter’ s Department #1 ——>
{assignedEntity classCode="ASSIGNED”>
<representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<name>C. 2. 1. 2. 1</name>
¢{]==C.2.1.2.1: Reporter’s Organisation #1 —>
</representedOrganization>
{/assignedEntity>
{/representedOrganization>
<{/assignedEntity>
</author>
{/controlActEvent>
<{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code code="2" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 22” displayName="sourceReport”/>
<subject0f2 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
<addr>
{streetAddressLine>C. 2. r. 2. 3¢/streetAddressLine>
<l=—C.2.1.2.3: Reporter’s Street #2 —>
{city>C.2.1.2.4</city>
{]==C.2.1.2.4: Reporter’s City #2 —>
<{state>C. 2. 1. 2.5<{/state>
<l-=(C.2.1r.2.5: Reporter’s State or Province #2 ——>
<postalCode>C. 2. r. 2. 6</postalCode>
<l-= (C.2.1.2.6: Reporter’ s Postcode #2 ——>
</addr>
<{telecom value="tel:C.2.v.2.7"7/>
(l-= C.2.1.2.7: Reporter’s Telephone #2 ——>
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<assignedPerson classCode="PSN” determinerCode="INSTANCE”>
<name>
<prefix>C. 2. r. 1. 1</prefix>
<= C.2.r.1.1: Reporter’s Title #2 —>
<{given>C. 2. 1. 1.2{/given>
{!-= C.2.1.1.2: Reporter’s Given Name #2 ——>
<{given>C. 2. 1. 1.3</given>
<!-=C.2.r.1.3: Reporter’s Middle Name #2 —->
{family>C. 2. 1. 1. 4</family>
<!-— C.2.1r.1.4: Reporter’ s Family Name #2 ——>
</name>
<asQualifiedEntity classCode="QUAL”>
<code code="C.2.1.4” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.6"/>
<!-= C.2.r.4: Qualification #2 ——>
<{/asQualifiedEntity>
<asLocatedEntity classCode="LOCE”>
<location classCode="COUNTRY” determinerCode="INSTANCE”>
{code code="C.2.r.3” codeSystem="1.0.3166.1.2.27/>
¢l==C.2.1.3: Reporter’s Country Code #2 ——>
<{/location>
</asLocatedEntity>
{/assignedPerson>
{representedOrganization classCode="0ORG” determinerCode="INSTANCE”>
<name>C. 2. r. 2. 2{/name>
<= (C.2.1r.2.2: Reporter’ s Department #2 ——>
{assignedEntity classCode="ASSIGNED”>
<{representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<name>C. 2. 1. 2. 1</name>
¢{]==C.2.1.2.1: Reporter’s Organisation #2 —>
</representedOrganization>
{/assignedEntity>
{/representedOrganization>
<{/assignedEntity>
</author>
{/controlActEvent>
<{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
{subjectOf1 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT”>
CassignedEntity classCode="ASSIGNED”>
<{code code="C.3.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.7"/>
<!--=C.3.1: Sender Type —>
<addr>
<{streetAddressLine>C. 3. 4. 1</streetAddressLine>
{!-=C.3.4.1: Sender’s Street Address ——>
<city>C. 3. 4.2</city>
<l-=C.3.4.2: Sender’s City ——>
{state>C. 3. 4. 3¢/state>
¢(]-=C.3.4.3: Sender’s State or Province ——>
</addr>
{telecom value="tel:C.3.4.6"/>
<{!-=C.3.4.6: Sender’s Telephone ——>
{telecom value="fax:C.3.4.7"/>
<!—— C.3.4.7: Sender’s Fax ——>
{telecom value="mailto:C.3.4.8"/>
<!--C.3.4.8: Sender’s E-mail Address ——>
<assignedPerson classCode="PSN” determinerCode="INSTANCE”>
<name>
<prefix>C. 3. 3. 2</prefix>
{]--C.3.3.2: Sender’s Title —>
{given>C. 3. 3. 3¢/given>
<l— (.3.3.3: Sender’s Given Name ——>
{given>C. 3. 3. 4</given>
{!--C.3.3.4: Sender’s Middle Name ——>
{family>C. 3. 3.5</family>
¢{]-=C.3.3.5: Sender’ s Family Name ——>
</name>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="C.3.4.5” codeSystem="1.0.3166.1.2.27/>
¢{l-=C.3.4.5: Sender’s Country Code —>
{/location>
</asLocatedEntity>
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</assignedPerson>
<{representedOrganization classCode="0ORG” determinerCode="INSTANCE”>
<name>C. 3. 2</name>
{]-—C.3.2: Sender’s Organisation —>
<{/representedOrganization>
{/assignedEntity>
<{/author>
<primaryInformationRecipient typeCode="PRCP”>
<assignedEntity classCode="ASSIGNED”>
<assignedPerson classCode="PSN” determinerCode="INSTANCE”>
<name>
<prefix>]J2.18. 2</prefix>
<l-- @eeJ2.18.2: ZfE#E JFEX —
{family>J2. 18. 3</family>
<1-- @00J2.18.3: Z(FH& W —>
{given>]J2.18.4</given>
<l-- @eeJ2.18.4: 54 4 —>
</name>
</assignedPerson>
<{representedOrganization classCode="ORG” determinerCode="INSTANCE”>
<{name>J2. 18. 1<{/name>
<J-- @e@J2.18.1: ZEH ML —
<{/representedOrganization>
{/assignedEntity>
</primaryInformationRecipient>
{/controlActEvent>
{/subjectOf1>
{subjectOf1 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.1.2"” root="2.16.840. 1. 113883. 3.989.2.1.3.3"/>
<l-=C.1.9.1.r.1: Source(s) of the Case Identifier (repeat as necessary) #l ——>
<I== C.1.9.1.1.2 Case Identifier(s) #1 ——>
<{/controlActEvent>
{/subjectOf1>
<subjectOf1 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.1.2” root="2.16.840. 1. 113883.3.989.2.1.3.3"/>
<I——C.1.9.1.1. 1: Source(s) of the Case Identifier (repeat as necessary) #2 —>
== C.1.9.1.1.2 Case Identifier(s) #2 —>
</controlActEvent>
{/subject0f1>
{subject0f2 typeCode="SUB]”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 23” displayName="1ichReportType”/>
<value xsi:type="CE” code="C.1.3” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.2"/>
<!-= C.1.3 Type of Report —>
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 23” displayName="otherCaselds”/>
<value xsi:type="BL” value="true”/>
<!== C.1.9.1 Other Case Identifiers in Previous Transmissions ——>
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23” displayName="nullificationAmendmentCode”/>
<value xsi:type="CE” code="C.1.11.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.5"/>
<{!-= C.1.11.1: Report Nullification / Amendment ——>
{/investigationCharacteristic>
{/subject0f2>
<subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 23" displayName="nullificationAmendmentReason”/>
<value xsi:type="CE”>
<originalText>C. 1. 11. 2<{/originalText>
{!-= C.1.11.2: Reason for Nullification / Amendment ——>
<{/value>
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<{code code="1" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1. 12" displayName="5k53K5 CGRE5¥H) />
<value xsi:type="CE” code="J2.1a” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.17/>
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<I-- @0eJ2. 1a: FHIFS (WESH) —
<{/investigationCharacteristic>
{/subject0f2>
<subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.12"
<value xsi:type="TS” value="20130107"/>
<I--eeejz.2.1: WEEREA —>
{/investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUB]”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16.840. 1. 113883. 3.989.5.1.3.2.1.12”
<value xsi:type="ED">J2.2.2<{/value>
<I-- @0eJ2.2.2: MEEFAIBT oA~ —>
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.12”
<value xsi:type="CE” code="]2.3” codeSystem="2.16.840. 1. 113883. 3
<I—- @@eJ2.3: REIRFHE 7 Z 7 —>
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="5" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.12”
<value xsi:type="CE” code="J2.8.1” codeSystem="2. 16.840. 1. 113883

<1-- 000)2.8. 1 WENGHNT T 7 —>
{/investigationCharacteristic>
<{/subject0f2>
<subject0f2 typeCode="SUBJ”>

{investigationCharacteristic classCode="0BS” moodCode="EVN">

<code code="6" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.12"

<value xsi:type="ED">J2.8.2<{/value>
<1-- @00J2.8.2: WEHGIOBE —>
{/investigationCharacteristic>
{/subject0f2>
<{/investigationEvent>
</subject>
{/controlActProcess>
</PORR_IN049016UV>
<{l—— Message #1 —>
(|- Message #2 —>
<]—— PORR_IN049016UV ——>
<!-—= /PORR_IN049016UV —>
{]-= Message #2 —>
{receiver typeCode="RCV”>
{device classCode="DEV” determinerCode="INSTANCE”>
<id extension="N.1.4” root="2.16.840. 1. 113883.3.989.2.1.3.14"/>
<{!— N.1.4: Batch Receiver Identifier —>
{/device>
{/receiver>
{sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE”>
<id extension="N.1.3” root="2.16.840.1.113883.3.989.2.1.3.13"/>
<{I-= N. 1.3: Batch Sender Identifier ——>
{/device>
<{/sender>
</MCCI_IN200100UVO1>
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XML

<{?xml version="1.0" encoding="UTF-8"7>
<MCCI_IN200100UVO1 ITSVersion="XML_1.0” xsi:schemaLocation="urn:hl7-org:v3 MCCI_IN200100UVO1. xsd” xmlns="urn:hl7-org:v3” xmlns:xsi="http://www. w3. org/
2001/XMLSchema—instance”>
<id extension="N.1.2” root="2.16.840. 1. 113883. 3. 989. 2. 1. 3. 22" />
<{!-= N.1.2: Batch Number —>
{creationTime value="20101214151617"/>
<!-= N.1.5: Date of Batch Transmission —>
<{responseModeCode code="D"/>
{interactionld extension="MCCI_IN200100UV01” root="2.16.840. 1. 113883.1.6"/>
<name code="N.1.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.17/>
<]== N.1.1: Type of Messages in Batch —>
<{l—— Message #1 —>
<PORR_IN049016UV>
<id extension="N.2.1.1” root="2.16.840. 1. 113883.3.989.2.1.3.17/>
<I=——N.2.r.1: Message Identifier —>
{creationTime value="20101214151617"/>
{I==N.2.1.4: Date of Message Creation —>
{interactionld extension="PORR_IN049016UV” root="2.16.840.1.113883.1.6"/>
{processingCode code="P"/>
{processingModeCode code="T"/>
CacceptAckCode code="AL"/>
{receiver typeCode="RCV”">
{device classCode="DEV” determinerCode="INSTANCE”>
<id extension="N.2.r.3” root="2.16.840. 1. 113883.3.989. 2. 1. 3. 12"/>
{I—— N.2.1.3: Message Receiver Identifier —>
<{/device>
{/receiver>
{sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.2.r.2” root="2.16.840. 1. 113883.3.989.2.1.3.11"/>
{]-=N.2.r1.2: Message Sender Identifier —>
<{/device>
{/sender>
{controlActProcess classCode="CACT” moodCode="EVN">
<code code="PORR_TE049016UV” codeSystem="2. 16. 840. 1. 113883. 1. 18" />
|- HL7 Trigger Event ID ——>
{effectiveTime value="20101214151617"/>
¢!— C.1.2: Date of Creation ——>
{subject typeCode="SUBJ”>
{investigationEvent classCode="INVSTG” moodCode="EVN">
<id extension="C.1.1” root="2.16.840.1.113883.3.989.2.1.3.17/>
¢{]-= C.1.1: Sender’s (case) Safety Report Unique Identifier ——>
<id extension="C.1.8.1” root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
{l--= C.1.8.1: Worldwide Unique Case Identification Number ——>
<id extension="J2.1b” root="2.16.840.1.113883.3.989.5.1.3.2.3.1"/>
<I-—@00J2. 1b: #WHIFS GEe) —>
<code code="PAT_ADV_EVNT” codeSystem="2. 16.840. 1. 113883.5.4"/>
{textoH. 1</ text>
{l-= H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant Information ——>
{statusCode code="active”/>
<1-—000J2.7.1 58T, RFETKHS —>
{effectiveTime>
<{low value="20090101"/>
<{!-= C.1.4: Date Report Was First Received from Source ——>
{/effectiveTime>
<availabilityTime value="20090101"/>
{l-= C.1.5: Date of Most Recent Information for This Report ——>
<reference typeCode="REFR”>
{document classCode="DOC” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 27" displayName="1literatureReference”/>
<title>J2.17. r</title>
<1-- @e@J2. 17. v Bk WIZED /M #1 —>
<{text mediaType="application/pdf” representation="B64”>C. 4. r.2{/text>
{]== C.4.r.2: Included Documents #1 ——>
<bibliographicDesignationText>C. 4. r. 1<{/bibliographicDesignationText>
{I=— C.4.7r.1: Literature Reference(s) #1 —>
{participation typeCode="AUT”>
CassignedEntity classCode="ASSIGNED”>
<{representedOrganization classCode="ORG” determinerCode="INSTANCE”>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="J2.15.1” codeSystem="1.0.3166.1.2.2"/>
<I-- @@0J2.15. v AFKE #1 —>
{/location>
</asLocatedEntity>
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</representedOrganization>
{/assignedEntity>
{/participation>
</document>
{/reference>
(reference typeCode="REFR”>
{document classCode="DOC” moodCode="EVN">
<{code code="2" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.27” displayName="1iteratureReference”/>
<title>J2.17. r</title>
<1— 000J2.17. v R WITED M #2 —>
{text mediaType="application/pdf” representation="B64">C.4.r.2<{/text>
{]== C.4.r.2: Included Documents #2 ——>
<bibliographicDesignationText>C. 4. r. 1<{/bibliographicDesignationText>
{I=— C.4.7r.1: Literature Reference(s) #2 —>
{participation typeCode="AUT”>
CassignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="TNSTANCE”>
<code code="J2.15.1” codeSystem="1.0.3166.1.2.2"/>
<I-- @@0J2.15. v AFKE #2 —>
{/location>
</asLocatedEntity>
</representedOrganization>
{/assignedEntity>
</participation>
</document>
{/reference>
<component typeCode="COMP”>
{adverseEventAssessment classCode="INVSTG” moodCode="EVN">
<{subjectl typeCode="SBJ”>
{primaryRole classCode="INVSBJ”>
<{playerl classCode="PSN” determinerCode="INSTANCE”/>
{subjectOf1 typeCode="SBJ”>
<researchStudy classCode="CLNTRL” moodCode="EVN">
<id extension="C.5.3” root="2.16.840.1.113883.3.989.2.1.3.5"/>
¢!-= C.5.3: Sponsor Study Number —>
<{code code="C.5.4” codeSystem="2.16.840.1.113883.3.989.2.1.1.8”/>
{!—— C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed ——>
{title>C. 5. 2</title>
<!—— C.5.2: Study Name ——>
Cauthorization typeCode="AUTH”>
{studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.r.1” root="2.16.840. 1. 113883.3.989.2.1.3.6"/>
<l— C.5.1.r.1: Study Registration Number #I —>
<author typeCode="AUT”>
{territorialAuthority classCode="TERR”>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<{code code="C.5.1.1.2” codeSystem="1.0.3166. 1.2.2"/>
{!-= C.5.1.1.2: Study Registration Country #1 ——>
<{/governingPlace>
{/territorialAuthority>
</author>
</studyRegistration>
{/authorization>
<authorization typeCode="AUTH”>
{studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.1.1” root="2.16.840. 1. 113883.3.989.2.1.3.6"/>
<!-— C.5.1.r. 1 Study Registration Number #2 —>
<author typeCode="AUT">
{territorialAuthority classCode="TERR”>
{governingPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="C.5.1.1.2” codeSystem="1.0.3166.1.2.2"/>
<l—— C.5.1.r.2: Study Registration Country #2 ——>
<{/governingPlace>
{/territorialAuthority>
</author>
</studyRegistration>
{/authorization>
<{/researchStudy>
</subjectOf1>
<{subjectOf2 typeCode="SB]”>
<organizer classCode="CATEGORY” moodCode="EVN">
{code code="4" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 20” displayName="drugInformation”/>
{!=— G.k Drug(s) Information (repeat as necessary) #l ——>



<component typeCode="COMP”>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c30-67671b0ef9ed” />
<consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<{code code="G.k.2.1.1b” codeSystem="TBD-MPID”/>
<!-= G.k.2.1.1b: Medicinal Product Identifier (MPID) #1 ——>
<name>G. k. 2. 2</name>
{!—— G.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 ——>
{asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SBJ”>
<approval classCode="CNTRCT” moodCode="EVN">
<id extension="G.k.3.1” root="2.16.840. 1. 113883.3.989.2.1.3.4"/>
<{!—— G.k.3.1: Authorisation / Application Number #1 ——>
<author typeCode="AUT">
{territorialAuthority classCode="TERR”>
{territory classCode="NAT” determinerCode="INSTANCE”>
<code code="G.k.3.2” codeSystem="1.0.3166.1.2.2"/>
<l-— G.k.3.2: Country of Authorisation / Application #1 —>
<{/territory>
{/territorialAuthority>
</author>
{pertinentInformation typeCode="PERT”>
<policy classCode="POLICY” moodCode="EVN">
<code code="J2.5.k” codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.4"/>
<1——0@0J2.5. k: —fXHEKLED Y R 7 X5% 41 —>
<{/policy>
{/pertinentInformation>
</approval>
<{/subjectOf>
{subjectOf typeCode="SBJ">
{characteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 10” displayName="#7[=$& 5 DIRILIX 53" />
<value xsi:type="CE” code="]J2.4.k” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.3"/>
<I-- @00J2. 4. k: FEILMEDRBLX Y #1 —>
{/characteristic>
<{/subjectOf>
</asManufacturedProduct>
<asSpecializedKind classCode="GEN">
{generalizedMaterialKind classCode="MAT” determinerCode="KIND”>
<code>
<originalText>J2. 12{/original Text>
<l-- 00J2. 12: JRBRASIRLES —
</code>
{/generalizedMaterialKind>
{/asSpecializedKind>
{ingredient classCode="ACTI”>
{ingredientSubstance classCode="MMAT” determinerCode="KIND”>
<code code="G.k.2.3.1.2b" codeSystem="TBD-Substance”/>
<!—— G.k.2.3.r.2b: Substance / Specified Substance TermID #I1-1 —>
<{name>G. k. 2. 3. r. 1</name>
<= G.k.2.3.71.1: Substance / Specified Substance Name #1-1 —>
</ingredientSubstance>
{/ingredient>
{ingredient classCode="ACT1”>
{ingredientSubstance classCode="MMAT” determinerCode="KIND”>
<code code="G.k.2.3.1.2b" codeSystem="TBD-Substance”/>
<l—— G.k.2.3.r.2b: Substance / Specified Substance TermID #1-2 —>
<{name>G. k. 2. 3. r. 1</name>
<= G.k.2.3.1.1: Substance / Specified Substance Name #1-2 —>
</ingredientSubstance>
{/ingredient>
</kindOfProduct>
{subjectOf typeCode="SBJ]">
{observationEvent classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 10" displayName="—f% I EZKS D A FHEIK"/>
<value xsi:type="CE” code="]J2.6.k” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.5"/>
<I-— @0ej2. 6. k: —fRMERROAFHRE §1 —>
</observationEvent>
</subjectOf>
</instance0fKind>
{/consumable>
<{/substanceAdministration>
</component>



</organizer>
<{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<organizer classCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1. 11" displayName="JRER D" />
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<{code code="7" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.10” displayName="Jg Hi[=]%" />
<value xsi:type="INT” value="1"/>
<1—- @00J2.13.v. 1: JEHFH #1 —>
</observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
{code code="8" codeSystem="2.16.840. 1. 113883. 3. 989. 5. 1.3.2. 1. 10" displayName="%tFHH"/>
<value xsi:type="ED”>J2.13.r.2<{/value>
<1 00@J2.13. 1. 2: RHRFRE #1 —>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1.3. 2. 1. 10” displayName="BH5+H"/>
<value xsi:type="CE” code="J2.13.r.3” codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.7"/>
<I-- 000]2. 13.1.3: BFEA #1 —>
<{/observation>
</component>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989.5. 1. 3.2. 1. 10” displayName="4&%& 1 DIEM| DA " />
<value xsi:type="BL” value="true”/>
- @00]2.13.r. 41 BT OREFOFE #1 —>
{/observation>
</component>
{/organizer>
</subject0f2>
{subjectOf2 typeCode="SB]”>
<organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1. 11" displayName="{R5R DHFZ" />
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<{code code="7" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.10” displayName="Jg Hi[F1%L" />
<value xsi:type="INT” value="1"/>
<1-- @00J2.13. 1. 1: JEHFH #2 —>
</observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1.3.2. 1. 10” displayName="%}ZEH"/>
<value xsi:type="ED”>J2.13.r.2</value>
<l-- @00J2. 13.r.2: XIGRHA #2 —>
<{/observation>
</component>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2.16.840. 1. 113883.3.989. 5. 1. 3. 2. 1. 10” displayName="FH%4H"/>
<value xsi:type="CE” code="J2.13.r1.3” codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.7"/>
<l @0@J2.13.r.3: BAFEAH #2 —>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN”">
<code code="10" codeSystem="2. 16. 840. 1. 113883.3.989. 5. 1. 3. 2. 1. 10” displayName="$¢3f DIEF| DG " />
<value xsi:type="BL” value="false”/>
<I-- @00J2.13. 1. 4: HIEROREFOHIE §2 —>
</observation>
</component>
<{/organizer>
</subject0f2>
</primaryRole>
<{/subject1>
<component1 typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED”>H. 4</value>
<{I-= H.4: Sender’s Comments ——>



<author typeCode="AUT”>
{assignedEntity classCode="ASSIGNED”>
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 21” displayName="sender”/>
</assignedEntity>
</author>
{/observationEvent>
</component1>
<{componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<{code code="3" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 10" displayName="R5E TIZx+THa A />
<value xsi:type="ED”>]J2.7.2</value>
= 000J2.7.2: RETITHTDIAL T —>
{/observationEvent>
</component1>
<{componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="5" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="4t& D x}it."/>
<value xsi:type="ED”>J2.10</value>
<I-- 00@J2.10: 5% D% —>
{/observationEvent>
{/component1>
<component1 typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="6" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1.3.2. 1. 10" displayName="% D fth 23 HIg%" />
<value xsi:type="ED”>J2.11</value>
<I-- @eej2.11: DB EHIEE —>
{/observationEvent>
</component1>
<componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2.16.840. 1. 113883.3.989.5. 1.3.2. 1. 10” displayName="$R5NEDELE"/>
<value xsi:type="ED”>J2.16</value>
<1— 000J2. 16: WMENEDOEIL —>
{/observationEvent>
</component1>
{/adverseEventAssessment>
</component>
{component typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="23" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="localCriteriaForExpedited”/>
<value xsi:type="BL” value="true”/>
{!== C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? ——>
{/observationEvent>
</component>
<outboundRelationship typeCode="SPRT”>
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 22” displayName="initialReport”/>
<subjectOf2 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT”>
{assignedEntity classCode="ASSIGNED”>
{code code="C.1.8.2" codeSystem="2.16. 840. 1. 113883.3.989.2.1.1.3"/>
{!-= C.1.8.2: First Sender of This Case ——>
<{/assignedEntity>
</author>
<{/controlActEvent>
<{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nullFlavor="NA"/>
<subjectOf2 typeCode="SUBJ”>
<controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C. 1. 10.r” root="2.16.840. 1. 113883. 3.989.2.1.3.2"/>
¢!=—= C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
<relatedInvestigation classCode="INVSTG” moodCode="EVN”>
{code nullFlavor="NA"/>
<{subject0f2 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">



<id extension="C.1.10.r” root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
<!=—— C.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary)
{/controlActEvent>
<{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
{subjectOf1 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
<addr>
<{streetAddressLine>C. 3. 4. 1</streetAddressLine>
<]-=C.3.4.1: Sender’s Street Address —>
<city>C. 3. 4.2</city>
{l-—C.3.4.2: Sender’s City —>
{state>C. 3. 4. 3¢/state>
<]--C.3.4.3: Sender’s State or Province ——>
<{/addr>
<assignedPerson classCode="PSN” determinerCode="INSTANCE”>
<name>
<prefix>C. 3. 3. 2</prefix>
{I--C.3.3.2: Sender’s Title —>
{given>C. 3. 3. 3¢{/given>
(!--C.3.3.3: Sender’s Given Name ——>
{given>C. 3. 3. 4</given>
{]--C.3.3.4: Sender’ s Middle Name ——>
{family>C. 3. 3. 5</family>
<!——(.3.3.5: Sender’s Family Name —>
{/name>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="INSTANCE">
<code code="C.3.4.5” codeSystem="1.0.3166.1.2.2"/>
<!-—= (.3.4.5: Sender’s Country Code ——>
{/location>
</asLocatedEntity>
{/assignedPerson>
{representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<name>C. 3. 2</name>
{l--(.3.2: Sender’ s Organisation ——>
</representedOrganization>
{/assignedEntity>
</author>
<{/controlActEvent>
<{/subject0f1>
<subjectOf1 typeCode="SUBJ”>
<controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.1.2” root="2.16.840.1.113883.3.989.2.1.3.3"/>
<1==C.1.9.1.1.1: Source(s) of the Case Identifier (repeat as necessary) #l ——>
== C.1.9.1.1.2 Case Identifier(s) #1 —>
{/controlActEvent>
{/subject0f1>
<subjectOf1 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.r.2” root="2.16.840. 1. 113883. 3. 989. 2. 1.3.3"/>
{J-=C.1.9.1.r.1: Source(s) of the Case Identifier (repeat as necessary) #2 ——>
{I——C.1.9.1.1.2 Case Identifier(s) #2 —>
{/controlActEvent>
{/subjectOf1>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23" displayName="1ichReportType”/>
<value xsi:type="CE” code="C.1.3” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.2"/>
<]=— C. 1.3 Type of Report —>
<{/investigationCharacteristic>
{/subject0f2>
<subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 23" displayName="otherCaselds”/>
<value xsi:type="BL” value="true”/>
<]== C.1.9.1 Other Case Identifiers in Previous Transmissions ——>
{/investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<{code code="3" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 23” displayName="nullificationAmendmentCode”/>

#2 —>



<value xsi:type="CE” code="C.1.11.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.5"/>
<!—— C.1.11.1: Report Nullification / Amendment ——>
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 23” displayName="nullificationAmendmentReason”/>
<value xsi:type="CE”>
<originalText>C. 1. 11. 2</originalText>
<!-= C.1.11.2: Reason for Nullification / Amendment ——>
{/value>
<{/investigationCharacteristic>
<{/subject0f2>
<subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883. 3.989.5. 1. 3. 2. 1. 12” displayName="ikBI % 5 (&N “/>
<value xsi:type="CE” code="]J2.1a” codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.17/>
<1-- 000J2. 1a: FAIES (WEHE) —
{/investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUB]”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16.840. 1. 113883.3.989. 5. 1.3.2.1.12” displayName="$R5&LH A" />
<value xsi:type="TS” value="20130107"/>
<1 00J2.2.1: WEEFA —>
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16.840. 1.113883.3.989.5.1.3.2.1.12” displayName="$R‘EHEHE HICRHTHa A K"/>
<value xsi:type="ED”>]J2.2.2</value>
<I-- 000J2.2.2: MEEFHIBT LA~ —>
<{/investigationCharacteristic>
{/subject0f2>
</investigationEvent>
<{/subject>
{/controlActProcess>
</PORR_IN049016UV>
<{!-- Message #1 —>
<{]— Message #2 —>
<!=—= PORR_IN049016UV ——>
<!-= /PORR_IN049016UV ——>
<{l—— Message #2 —>
{receiver typeCode="RCV”>
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.4” root="2.16.840.1.113883.3.989.2.1.3.14"/>
<!-= N.1.4: Batch Receiver Identifier ——>
{/device>
{/receiver>
<sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE”>
<id extension="N.1.3” root="2.16.840. 1. 113883.3.989.2.1.3.13"/>
<{!== N.1.3: Batch Sender Identifier ——>
{/device>
</sender>
</MCCT_IN200100UVO1>



XML

<{?xml version="1.0" encoding="UTF-8"7>
<MCCI_IN200100UVO1 ITSVersion="XML_1.0” xsi:schemaLocation="urn:hl7-org:v3 MCCI_IN200100UVO1. xsd” xmlns="urn:hl7-org:v3” xmlns:xsi="http://www. w3. org/
2001/XMLSchema—instance”>
<id extension="N.1.2” root="2.16.840. 1. 113883. 3. 989. 2. 1. 3. 22" />
<{!-= N.1.2: Batch Number —>
{creationTime value="20101214151617"/>
<!-= N.1.5: Date of Batch Transmission —>
<{responseModeCode code="D"/>
{interactionld extension="MCCI_IN200100UV01” root="2.16.840. 1. 113883.1.6"/>
<name code="N.1.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.17/>
<]== N.1.1: Type of Messages in Batch —>
<{l—— Message #1 —>
<PORR_IN049016UV>
<id extension="N.2.1.1” root="2.16.840. 1. 113883.3.989.2.1.3.17/>
<I=——N.2.r.1: Message Identifier —>
{creationTime value="20101214151617"/>
{I==N.2.1.4: Date of Message Creation —>
{interactionld extension="PORR_IN049016UV” root="2.16.840.1.113883.1.6"/>
{processingCode code="P"/>
{processingModeCode code="T"/>
CacceptAckCode code="AL"/>
{receiver typeCode="RCV”">
{device classCode="DEV” determinerCode="INSTANCE”>
<id extension="N.2.r.3” root="2.16.840. 1. 113883.3.989. 2. 1. 3. 12"/>
{I—— N.2.1.3: Message Receiver Identifier —>
<{/device>
{/receiver>
{sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.2.r.2” root="2.16.840. 1. 113883.3.989.2.1.3.11"/>
{]-=N.2.r1.2: Message Sender Identifier —>
<{/device>
{/sender>
{controlActProcess classCode="CACT” moodCode="EVN">
<code code="PORR_TE049016UV” codeSystem="2. 16. 840. 1. 113883. 1. 18" />
|- HL7 Trigger Event ID ——>
{effectiveTime value="20101214151617"/>
¢!— C.1.2: Date of Creation ——>
{subject typeCode="SUBJ”>
{investigationEvent classCode="INVSTG” moodCode="EVN">
<id extension="C.1.1” root="2.16.840.1.113883.3.989.2.1.3.17/>
¢{]-= C.1.1: Sender’s (case) Safety Report Unique Identifier ——>
<id extension="C.1.8.1” root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
{l--= C.1.8.1: Worldwide Unique Case Identification Number ——>
<id extension="J2.1b” root="2.16.840.1.113883.3.989.5.1.3.2.3.1"/>
<I-—@00J2. 1b: #WHIFS GEe) —>
<code code="PAT_ADV_EVNT” codeSystem="2. 16.840. 1. 113883.5.4"/>
{textoH. 1</ text>
{l-= H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant Information ——>
{statusCode code="active”/>
<1-—000J2.7.1 58T, RFETKHS —>
{effectiveTime>
<{low value="20090101"/>
<{!-= C.1.4: Date Report Was First Received from Source ——>
{/effectiveTime>
<availabilityTime value="20090101"/>
{l-= C.1.5: Date of Most Recent Information for This Report ——>
<reference typeCode="REFR”>
{document classCode="DOC” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 27" displayName="1literatureReference”/>
<{text mediaType="application/pdf” representation="B64”>C. 4. r.2{/text>
<!== C.4.r.2: Included Documents #1 ——>
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
{!—— C.4.r.1: Literature Reference(s) #1 —>
{participation typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="ORG” determinerCode="INSTANCE”>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="]J2.15.r” codeSystem="1.0.3166.1.2.27/>
<I-- @@@j2. 15. v AKE #1 —>
<{/location>
{/asLocatedEntity>
<{/representedOrganization>
{/assignedEntity>
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</participation>
</document>
{/reference>
<reference typeCode="REFR”>
<document classCode="DOC” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 27" displayName="1literatureReference”/>
<text mediaType="application/pdf” representation="B64”>C.4.r.2<{/text>
<!== C.4.r.2: Included Documents #2 ——>
<bibliographicDesignationText>C. 4. r. 1<{/bibliographicDesignationText>
{!—— C.4.r.1: Literature Reference(s) #2 —>
{participation typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="ORG” determinerCode="INSTANCE”>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="]J2.15.1” codeSystem="1.0.3166.1.2.2"/>
<I-- @@@j2.15. v AKE #2 —>
{/location>
{/asLocatedEntity>
<{/representedOrganization>
{/assignedEntity>
</participation>
</document>
{/reference>
{component typeCode="COMP”>
<adverseEventAssessment classCode="INVSTG” moodCode="EVN">
<subjectl typeCode="SBJ”>
<primaryRole classCode="INVSB]”>
<playerl classCode="PSN” determinerCode="INSTANCE”/>
<subjectOf1 typeCode="SBJ”>
<researchStudy classCode="CLNTRL” moodCode="EVN">
<id extension="C.5.3” root="2.16.840. 1. 113883. 3. 989.2.1.3.5"/>
<l-= (.5.3: Sponsor Study Number ——>
<code code="C.5.4” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.8"/>
{]== C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed —>
<{title>C.5.2</title>
¢(!-= C.5.2: Study Name ——>
<authorization typeCode="AUTH”>
{studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.1.1” root="2.16.840. 1. 113883.3.989.2.1.3.6"/>
<!-— C.5.1.r.1: Study Registration Number #1 ——>
<author typeCode="AUT">
{territorialAuthority classCode="TERR”>
{governingPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="C.5.1.1.2” codeSystem="1.0.3166.1.2.2"/>
<l—— C.5.1.r.2: Study Registration Country #1 ——>
<{/governingPlace>
{/territorialAuthority>
</author>
</studyRegistration>
{/authorization>
Cauthorization typeCode="AUTH”>
{studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.r.1” root="2.16.840. 1. 113883.3.989.2.1.3.6"/>
{!-= C.5.1.r. 1 Study Registration Number #2 —>
<author typeCode="AUT”>
{territorialAuthority classCode="TERR”>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<{code code="C.5.1.1.2” codeSystem="1.0.3166. 1.2.2"/>
{!-= C.5.1.1.2: Study Registration Country #2 ——>
</governingPlace>
{/territorialAuthority>
</author>
<{/studyRegistration>
{/authorization>
</researchStudy>
<{/subjectOf1>
{subjectOf2 typeCode="SBJ”>
<{organizer classCode="CATEGORY” moodCode="EVN">
{code code="4" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.20” displayName="drugInformation”/>
{!=— G.k Drug(s) Information (repeat as necessary) #1 —>
{component typeCode="COMP”>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9¢c30-67671b0ef9ed” />
<consumable typeCode="CSM”>



{instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.1.1b” codeSystem="TBD-MPID"/>
<!== G.k.2.1.1b: Medicinal Product Identifier (MPID) #1 ——>
<name>G. k. 2. 2</name>
{!-= 6.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 ——>
<asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SB]”>
<approval classCode="CNTRCT” moodCode="EVN">
<id extension="G.k.3.1” root="2.16.840. 1. 113883.3.989.2.1.3.4"/>
{!-= G.k.3.1: Authorisation / Application Number #1 ——>
<author typeCode="AUT”>
{territorialAuthority classCode="TERR”>
{territory classCode="NAT” determinerCode="INSTANCE”>
{code code="G.k.3.2” codeSystem="1.0.3166.1.2.27/>
(l-= G.k.3.2: Country of Authorisation / Application #1 ——>
{/territory>
<{/territorialAuthority>
{/author>
<{pertinentInformation typeCode="PERT”>
<policy classCode="POLICY” moodCode="EVN">
<code code="J2.5.k” codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.4"/>
<1-- @@@J2. 5. k: —fXMEIEMEDY 27 X535 #1 —>
<{/policy>
</pertinentInformation>
</approval>
</subjectOf>
{subjectOf typeCode="SB]”>
{characteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 10" displayName="3T[% 3£t %5 DIRVLK 5" />
<value xsi:type="CE” code="J2.4.k” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.3"/>
<1-- 00@J2. 4. k: HEIMFEORIX 3 #1 —>
{/characteristic>
</subjectOf>
</asManufacturedProduct>
<asSpecializedKind classCode="GEN">
{generalizedMaterialKind classCode="MAT” determinerCode="KIND">
<{code>
<originalText>J2. 12{/originalText>
<= @@J2. 12: 158 RLT —>
<{/code>
{/generalizedMaterialKind>
<{/asSpecializedKind>
<ingredient classCode="ACT1”>
{ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.3.1.2b” codeSystem="TBD-Substance”/>
<l-= G.k.2.3.1.2b: Substance / Specified Substance TermID #1-1 —>
<{name>G. k. 2. 3. r. 1</name>
<]-= G.k.2.3.71.1: Substance / Specified Substance Name #1-1 ——>
</ingredientSubstance>
<{/ingredient>
{ingredient classCode="ACTI”>
{ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.3.r.2b"” codeSystem="TBD-Substance”/>
<]-= G.k.2.3.1.2b: Substance / Specified Substance TermID #1-2 —>
<name>G. k. 2. 3. r. 1<{/name>
<]-= G.k.2.3.1.1: Substance / Specified Substance Name #1-2 ——>
</ingredientSubstance>
<{/ingredient>
</kindOfProduct>
{subjectOf typeCode="SBJ”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="—% £ 3&fh D A FAX " />
{value xsi:type="CE” code="]J2.6.k” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.5"/>
<1-- 000J2. 6. k: —fXHERMD AT #1 —>
</observationEvent>
<{/subjectOf>
</instanceOfKind>
<{/consumable>
</substanceAdministration>
</component>
<{/organizer>
</subject0f2>
<{subjectOf2 typeCode="SB]”>
<organizer classCode="CATEGORY” moodCode="EVN">



<code code="1" codeSystem="2.16.840. 1. 113883. 3. 989.5.1.3.2.1. 11" displayName="7RER D" />
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="7" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="J@ HR%" />
<value xsi:type="INT” value="1"/>
<I-- @0@J2. 13.7. 1+ JEHiEEL #1 —>
<{/observation>
</component>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
{code code="8" codeSystem="2.16.840. 1. 113883.3.989. 5. 1.3.2.1. 10" displayName=">fG 8" />
<value xsi:type="ED”>J2.13.r.2</value>
<1--000J2. 13.r.2: XRHH #1 —>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<{code code="9" codeSystem="2.16.840. 1. 113883. 3. 989. 5. 1.3.2.1.10” displayName="BH3&+H"/>
<value xsi:type="CE” code="]J2.13.r.3” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.7"/>
<I— @0@J2.13.v.3: BA¥EM #1 —>
</observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<{code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="FZth D JEF| DA H" />
<value xsi:type="BL” value="true”/>
<1—000J2.13. . 4: FIEPOIEFIOAME 1 —>
<{/observation>
</component>
</organizer>
<{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<{organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSystem="2. 16.840. 1. 113883. 3.989. 5. 1.3.2. 1. 11" displayName="{55RDHFL"/>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="7" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 10” displayName=")ifi tH[a]%%" />
<value xsi:type="INT” value="1"/>
<I-- @@eJ2.13.r.1: JmitiEEK #2 —>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2. 16.840. 1. 113883.3.989. 5. 1.3.2.1. 10" displayName=">GH"/>
<value xsi:type="ED”>J2.13.r.2<{/value>
<1 00@J2.13.7.2: REIRHE #2 —>
</observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<{code code="9” codeSystem="2.16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="BH3&+H"/>
<value xsi:type="CE” code="]J2.13.r.3” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.7"/>
<1 00@J2.13.v.3: BHFEAR #2 —>
{/observation>
</component>
{component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1.3. 2. 1. 10” displayName="4 3L DIEH| D AHEE" />
<value xsi:type="BL” value="false”/>
<I-- 000J2. 13.r.4: LD OREFOFEE 2 —>
{/observation>
</component>
</organizer>
<{/subject0f2>
{/primaryRole>
<{/subjectl>
<componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="comment”/>
<value xsi:type="ED”>H. 4</value>
<!-= H.4: Sender’s Comments ——>
<author typeCode="AUT”>
CassignedEntity classCode="ASSIGNED”>
{code code="1" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 21” displayName="sender”/>
<{/assignedEntity>



</author>
{/observationEvent>
{/component1>
<component1 typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16.840. 1. 113883. 3.989. 5. 1. 3.2. 1. 10” displayName="R%E TIZ%4 252 A K'/>
<value xsi:type="ED”>J2.7.2</value>
- @00J2.7.2: REETICHTDIIAL | —>
{/observationEvent>
</component1>
<componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
{code code="5" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1. 10" displayName="41% D %" />
<value xsi:type="ED”>]J2.10</value>
= @@@J2.10: SHOXIIS —>
{/observationEvent>
</component1>
<componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="6" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” displayName="% D& FIHE" />
<value xsi:type="ED”>J2.11</value>
<= 0@0J2.11: ZDMBHBFEHE —>
{/observationEvent>
{/component1>
<{componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2.16.840. 1. 113883.3.989. 5. 1.3.2. 1. 10" displayName="EHNEDE K" />
<value xsi:type="ED”>J2.16</value>
<= 000J2.16: WMENFDOEN —>
{/observationEvent>
</component1>
{/adverseEventAssessment>
</component>
<component typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<{code code="23" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.19” displayName="localCriteriaForExpedited”/>
<value xsi:type="BL” value="true”/>
{!-— C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —>
{/observationEvent>
</component>
<outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 22” displayName="initialReport”/>
<{subject0f2 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
<code code="C.1.8.2” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.3"/>
(] C.1.8.2: First Sender of This Case ——>
{/assignedEntity>
<{/author>
{/controlActEvent>
<{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
<relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nullFlavor="NA"/>
<{subject0f2 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.r” root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
<!=— C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>
{/controlActEvent>
<{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code nullFlavor="NA"/>
<{subject0f2 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.r” root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
¢!-= C.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary) #2 ——>
{/controlActEvent>
<{/subject0f2>



{/relatedInvestigation>
</outboundRelationship>
{subjectOf1 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT”>
CassignedEntity classCode="ASSIGNED”>
<addr>
{streetAddressLine>C. 3. 4. 1{/streetAddressLine>
<]-=C.3.4.1: Sender’s Street Address ——>
{city>C. 3. 4.2</city>
<l-=C.3.4.2: Sender’s City —>
<{state>C. 3. 4. 3{/state>
<]-=C.3.4.3: Sender’s State or Province —>
</addr>
<assignedPerson classCode="PSN” determinerCode="INSTANCE”>
<name>
<prefix>C. 3. 3. 2</prefix>
{]--C.3.3.2: Sender’s Title —>
{given>C. 3. 3. 3¢/given>
<l— (.3.3.3: Sender’s Given Name ——>
{given>C. 3. 3. 4</given>
{!--C.3.3.4: Sender’s Middle Name ——>
{family>C. 3. 3.5</family>
¢(]--C.3.3.5: Sender’s Family Name ——>
<{/name>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="C.3.4.5” codeSystem="1.0.3166.1.2.27/>
¢{l-=C.3.4.5: Sender’s Country Code —>
{/location>
</asLocatedEntity>
</assignedPerson>
<{representedOrganization classCode="0ORG” determinerCode="INSTANCE”>
<name>C. 3. 2</name>
{]— C.3.2: Sender’s Organisation —>
<{/representedOrganization>
{/assignedEntity>
<{/author>
{/controlActEvent>
{/subjectOf1>
{subjectOf1 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.r.2” root="2.16.840. 1. 113883. 3. 989.2.1.3.3"/>
<!-=C.1.9.1.r.1: Source(s) of the Case Identifier (repeat as necessary) #l ——>
<I== C.1.9.1.1.2 Case Identifier(s) #1 ——>
<{/controlActEvent>
{/subjectOf1>
<subjectOf1 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.1.2” root="2.16.840. 1. 113883.3.989.2.1.3.3"/>
{I——C.1.9.1.1. 1: Source(s) of the Case Identifier (repeat as necessary) #2 —>
{1--C.1.9.1.r.2 Case Identifier(s) #2 ——>
</controlActEvent>
<{/subject0f1>
{subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 23” displayName="1ichReportType”/>
<value xsi:type="CE” code="C.1.3” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.2"7/>
<!-= C.1.3 Type of Report —>
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 23” displayName="otherCaselds”/>
<value xsi:type="BL” value="true”/>
<!== C.1.9.1 Other Case Identifiers in Previous Transmissions ——>
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23” displayName="nullificationAmendmentCode”/>
<value xsi:type="CE” code="C.1.11.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.5"/>
<{!-= C.1.11.1: Report Nullification / Amendment ——>
<{/investigationCharacteristic>
<{/subject0f2>



<subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 23" displayName="nullificationAmendmentReason”/>
<value xsi:type="CE”>
<originalText>C. 1. 11. 2<{/originalText>
{!-== C.1.11.2: Reason for Nullification / Amendment ——>
<{/value>
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<{code code="1" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.12” displayName="5k5FK5 CGRE5¥H) />
<value xsi:type="CE” code="J2.1a” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.17/>
<= @0eJ2. 1a: WHIFES (MENE) —>
<{/investigationCharacteristic>
{/subject0f2>
<subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="2" codeSystem="2.16.840. 1. 113883.3.989. 5. 1. 3. 2. 1. 12" displayName="##5 5 1" />
<value xsi:type="TS” value="20130107"/>
<I-- @eej2.2.1: WEREAR —>
{/investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.12” displayName="#5EH AP+ Ha A K7/>
<value xsi:type="ED">J2.2.2<{/value>
<l-- @eej2.2.2: MERFAICHTL2aAL b —>
{/investigationCharacteristic>
{/subject0f2>
{subjectOf2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2. 16.840. 1. 113883. 3.989. 5. 1. 3.2. 1. 12" displayName="HIf§Rs5 > Z 7" />
<value xsi:type="CE” code="]2.3” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.2"/>
<I—- @@eJ2.3: RIRFWHE 7 Z 7 —>
{/investigationCharacteristic>
{/subject0f2>
<{/investigationEvent>
<{/subject>
{/controlActProcess>
</PORR_IN049016UV>
{]-= Message #1 —>
<{l—— Message #2 —>
<]-— PORR_IN049016UV ——>
<]== /PORR_IN049016UV —>
<{l—— Message #2 —>
{receiver typeCode="RCV">
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.4” root="2.16.840.1.113883.3.989.2.1.3.14"/>
<!-= N.1.4: Batch Receiver Identifier ——>
<{/device>
{/receiver>
<sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE”>
<id extension="N.1.3” root="2.16.840. 1. 113883.3.989.2.1.3.13"/>
<!— N.1.3: Batch Sender Identifier ——>
{/device>
</sender>
</MCCT_IN200100UVO1>
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess|@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'[@mood Code="EVN'l/subjectOf2[@typeCode='"SUBJ'|[inve
stigationCharacteristic/code[@code='4"1[{@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12']l[1]/investigationCharacteristic/@classCode="OBS'l[@mood Code="EVN'
I/valuel@xsi:type='"CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.2'/@code
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e='"CACT']|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'|[@mo
0dCode="EVN'l/subject1[@typeCode='SBdJ'l[1]/primaryRole[@classCode='"INVSBJ'
l/subjectOf2[@typeCode='"SBJ'l[organizer/code[@code='4"l[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'1[1]/organizer[@classCode='"CATEGORY'l [@mood Code='E
VN'l/component[@typeCode="COMP'] [substanceAdministration/id][kl/substanceA
dministration[@classCode="SBADM'l[@moodCode="EVN'l/consumable[@typeCode
='CSM'][1]/instanceOfKind[@classCode="INST']/kind OfProduct[@classCode="MM
AT'l[@determinerCode="KIND'l/asManufacturedProduct(@classCode="MANU'l/su
bjectOf[@typeCode='SBd'l[characteristicl[1]/characteristic[code[@code="1"] [@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10']][1][@classCode="OBS'l [@mood Cod
e='EVN'/value[@xsi:type='CEl[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
3')/@code
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XPath /MCCI_IN200100UVO01[@ITSVersion="XML_1.0'l[@xsi:schemal.ocation="urn:hl17-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT']|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'|[@mo
0dCode="EVN'l/subject1[@typeCode='SBdJ'l[1]/primaryRole[@classCode='"INVSBJ'
l/subjectOf2[@typeCode='"SBJ'l[organizer/code[@code='4"l[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'1[1]/organizer[@classCode='"CATEGORY'l [@mood Code='E
VN'l/component[@typeCode="COMP'] [substanceAdministration/id][k]/substanceA
dministration[@classCode="SBADM'l[@moodCode="EVN'l/consumable[@typeCode
='CSM'][1]/instanceOfKind[@classCode="INST']/kind OfProduct[@classCode="MM
AT'l[@determinerCode="KIND'l/asManufacturedProduct(@classCode="MANU'l/su
bjectOfl@typeCode='SBd'l[approvall[1]/approval[@classCode='"CNTRCT'l [@mood
Code="EVN'l/pertinentInformation[@typeCode="PERT'][1]/policy[@classCode="PO
LICY'l[@moodCode="EVN'l/code[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
4'/@code

J2.6.k —XFAEIKMLDOAFRER

TH H 7 B A SRS — W EE IR DA O AN TR &~ T,

e RS B A RIS — i EEIR A DA, E N2 BAEEESRIZ DWW THIK S X v Y]
7pa— MEZEINL CRifid 5 2 &,

T — & 1A

FFAE B 5 2R




XPath

(value)

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess|@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code='"EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'l [@mo
odCode="EVN'l/subject1[@typeCode='SBJ'l[1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode='"SBJ'][organizer/code[@code='4'] [@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'][1]/organizer[@classCode='"CATEGORY'l [@mood Code="E
VN'l/component[@typeCode="COMP'] [substanceAdministration/id][k]/substanceA
dministration[@classCode="SBADM'l[@mood Code="EVN'l/consumable[@typeCode
='CSM'][1]/instanceOfKind[@classCode="INST'l/subjectOf[@typeCode='"SBJ'l/obse
rvationEvent[code[@code="2'] [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
11{1][@classCode="OBS'l[@mood Code='"EVN'l/valuel@xsi:type='"CE'l[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'l/@code

XPath
(null

flavor)

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess|@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code='"EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'l [@mo
odCode="EVN'l/subject1[@typeCode='SBdJ'l[1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode='"SBJ'][organizer/code[@code='4'] [@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'][1]/organizer[@classCode='CATEGORY'l [@mood Code="E
VN'l/component[@typeCode="COMP'] [substanceAdministration/id][1]/substanceA
dministration[@classCode="SBADM'l[@mood Code="EVN'l/consumable[@typeCode
='CSM'][1]/instanceOfKind[@classCode="INST'l/subjectOf[@typeCode='"SBJ']/obse
rvationEvent[code[@code="2'] [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
11{1][@classCode="OBS'l[@mood Code='"EVN'l/valuel@xsi:type='"CE'l[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'/@nullFlavor

J2.7.1 =T
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r]/controlActProcess[@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN']/statusCode/@code

J2.7.2 RFE

TICETHaA b

TH H B

RIETHEDEAEL, Re TG OB 2R,

FLT A

L

F— 51

10000J

e ()

H HRCHL

XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV|rl/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'|[@mo
0dCode='"EVN'l/component1[@typeCode="COMP'][observationEvent[code[@code="
3'1[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'l]][1]/observationEvent[@c
lassCode='"OBS'l[@moodCode='"EVN'l/valuel@xsi:type='"ED'l/text()

J2.8.1 #i4

TH H B

BRI T Z T
il R JE A3 A S e

"
IENIAR
25

-
—

R Ul Sy NS STRNENE =D U E STANGABIEYI 1< SaiaR A ik ol

FL T A

FETLOGEOR N=HENRI) 2T 52 L,

F— 51

1IN

e ()

1=8E %54t

XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT']|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'[@moodCode='"EVN'l/subjectOf2[@typeCode='"SUBJ'][inve
stigationCharacteristic/code[@code='5"[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12'[1[1]/investigationCharacteristic[@class Code='"OBS'l [@mood Code="EVN'
I/valuel@xsiitype='CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.6'l/@code

J2.8.2 #iy

RRA DB

T H i
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T — A 10000d

FFAE ENEEERE 7

XPath /MCCI_IN200100UVO01[@ITSVersion="XML_1.0'l[@xsi:schemal.ocation="urn:hl17-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV|rl/controlActProcess[@classCod
e='CACT']|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/subjectOf2[@typeCode='"SUBJ'l[inve
stigationCharacteristic/code[@code='6'[{@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12'[1[1]/investigationCharacteristic[@class Code='"OBS'l [@mood Code="EVN'
Ivaluel@xsi:type="ED'l/text(

J2.9 RIMEDOWKRE

THH B JRYSESE GRS OS5, Rk 24 43 A 6 A AHEERTE 0306 5/ 7704 3K A LR
el a [Tl ig RS R DBMERET A RT A ) O—HBEIZ DWW T ORIEs i
REIFNE AR DL ETA RT A4 2] IRV RSNTEHENEZ LT S,

RLET A 7L

T — Al 10000d

FFAE EREEEE )

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV|rl/controlActProcess|@classCod
e='CACT'][@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'|[@mo

0dCode='"EVN'l/component1[@typeCode="COMP'][observationEvent[code[@code="
4'[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'l]][1]/observationEvent[@c
lassCode='"OBS'l[@moodCode='"EVN'l/valuel@xsi:type='"ED'l/text()

J2.10 5% DOxfik

HH A LR ORIEH S 5 =5 E OFHMIC E D < ALE & AR OSSOV TREHE
T2,

RL T A L

T — 5 10000dJ

e () H HRCHL




XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r]/controlActProcess[@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code='"EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'[@mo
0dCode="EVN'l/component1[@typeCode='COMP'][observationEvent[code[@code="'
5'[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'l]11[1]/observationEvent|[@c
lassCode="OBS'l[@moodCode='"EVN'l/value[@xsi:type='"ED'l/text()

J2.11 DB EEESE

HHBH EOMBE LI b FEHEAFLET D,

RLHT A 7L

T — & 10000J

FFAE EREEERE )

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess|@classCod
e='CACT'][@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'l[@mo

0dCode='"EVN'l/component1[@typeCode="COMP'][observationEvent[code[@code="
6'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'l]][1]/observationEvent[@c
lassCode='"OBS'l[@moodCode='"EVN'l/valuel@xsi:type='"ED'l/text()

J2.12 BB S RS

TH H 7 A TR E (SR L TV B ke B A2 T,

oL WaRiS TREREH S 2 L TR WSS IR ERGT I EIC RS L TW AR a— R
ZRLHT D 2 &,

T — & 70J

FFAE EREEERE )

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV|rl/controlActProcess[@classCod
e='"CACT']|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'l[@mo

0dCode="EVN'l/subject1[@typeCode='SBdJ'l[1]/primaryRole[@classCode='"INVSBJ'
l/subjectOf2[@typeCode='"SBJ'l[organizer/code[@code='4"l[@codeSystem='2.16.840.

8




1.113883.3.989.2.1.1.20'][1]/organizer[@classCode='CATEGORY'l [@mood Code="E
VN'l/component[@typeCode="COMP'] [substanceAdministration/id]/substanceAd
ministration[@classCode='SBADM'] [@moodCode="EVN'][consumable/instanceOf
Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/originalTe
xt][1]/consumable[@typeCode='"CSM'l[1]/instanceOfKind[@classCode="INST'l/kin
dOfProduct[@classCode="MMAT'][@determinerCode="KIND'l/asSpecialized Kind|[
@classCode='"GEN'l[1]/generalizedMaterialKind[@classCode="MAT'] [@determiner
Code="KIND'l/code/original Text/text()

J2.13.r.1 @

HHE %%

T H i

BBR T LI, IRBRGTEE O | KRz fiid 5,

RL T A

TEERET B EA IR L W WA 12T, e+ 52 L,

F— 51

2N

e ()

AL

XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess|@classCod
e='CACT'][@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'|[@mo
0dCode="EVN'l/subject1[@typeCode='SBdJ'l[1]/primaryRole[@classCode='"INVSBJ'
l/subjectOf2[@typeCode='"SBJ'l[organizer/code[@code='1"l[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'll[r]/organizer[@classCode='CATEGORY'l [@moodCode
='EVN'l/component[@typeCode='COMP']/observation[@classCode='"OBS'l[@mood
Code="EVN'l[code[@code="7'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
ll/valuel@xsi:type="INT'l/@value

J2.13.r.2 Xt

IR

TH H B

BT LI, IRBGTHEFISER SN TO DR E LT D,

LT %

EREEBHELZIRHE L TV DAEAICIE., B#E2EB TN TE D, 2B, 1B
FEEEZRRE L T WEEEIZIE, BRI EEICFEHR L W AR ERERH#H T 5
Z L, Fl—OEBREREECOBEOEEREZRNR L THEAIT. Vo~ TR TR
WIHZ L,

1000dJ

FEAE

H R

XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r]/controlActProcess[@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code='"EVN'l/component[@typeCode="COMP'][adv

9




erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'l [@mo
odCode="EVN'l/subject1[@typeCode='SBJ'][1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode='"SBJ'][organizer/code[@code='1"] [@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'l] [r]/organizer[@classCode='"CATEGORY'l [@mood Code
='"EVN'l/component[@typeCode="COMP"']/observation[@classCode="OBS'l[@mood
Code="EVN'l[code[@code="8'][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
1l/valuel@xsi:type="ED'l/text()

J2.13.r.3 PBHZEHE

HH A TRBRETE R E SRR S LTV BB &2~ T,

AU 5 RBRETHE HHFEZRE L TV LGEI2IE, FUilE2EE T2 L1 TE 5, B, ARG
HJREZ PR L TWRWEAIZE, BIRKS KV @Eblea— MEAZRIR L TRt 5 2
&

T — s 1N

FFAE BIRK 5 2 [

XPath /MCCI_IN200100UVO01[@ITSVersion="XML_1.0'1[@xsi:schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV|rl/controlActProcess|@classCod
e='"CACT']|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'|[@mo

0dCode="EVN'l/subject1[@typeCode='SBdJ'l[1]/primaryRole[@classCode='"INVSBJ'
l/subjectOf2[@typeCode='"SBJ'l[organizer/code[@code='1"l[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'll[r]/organizer[@classCode='CATEGORY'l [@moodCode
='EVN'l/component[@typeCode='COMP']/observation[@classCode='"OBS'l[@mood

Code="EVN'l[code[@code="9'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
1/valuel@xsi:type='CE][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.7]/@cod

e

J2.18.r.4 BEBOREHDH

THH @A YL DIREREL ) % B ORE DA %2 7”7,
RLH T TR 2— FMETIH AL 7= AR TELYER VW DLHEEIE [True=F 1 %, WRWEAIZ
[False=1 | Zi®IRTHZ &,
T — 4 7 — /4 10A
FFAE true="mH
false=
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess|@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code='"EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'l [@mo
odCode="EVN'l/subject1[@typeCode='SBJ'l[1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode='"SBJ'][organizer/code[@code='1"][@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'l] [r]/organizer[@classCode='"CATEGORY'l [@mood Code
='"EVN'l/component[@typeCode="COMP"']/observation[@classCode="OBS'l[@mood
Code='"EVN'l[code[@code="10"][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1
0'll/valuel@xsi:type='BL'l/@value

J2.14.1

REN -

BEXn

T H i

BBROGE | Yl ORWENENRBREMEE NG TRITE 20V D Th 5551
R, ZOMOGE IR & 35, ICSR A @ E.i.2.1b GIfEH 54 (MedDRA
a— R) LRSEST S, BIEREICR - BEAE 595, (FRIEOH ke,
A@EpA O 8. ZDOMOIERENEMFERE IR L TOEEFH] © (1) 238+
5T k,)

RLl T A

a— NMEDER L TRl 2 2 &,

F— 51

1IN

e ()

1=2AR%0
2=REH

XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV|rl/controlActProcess[@classCod
e='CACT']|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'|[@mo
0dCode="EVN'l/subject1[@typeCode='SBdJ'l[1]/primaryRole[@classCode='"INVSBJ'
l/subjectOf2[@typeCode='"SBJ'l[observation[id]l[code[@code='29"1[@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19'][il/observation[@classCode='"OBS'l [@mood Code=
'EVN'l/outboundRelationship2[@typeCode="PERT'] [observation/code[@code="11'][
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1] [1]/observation[@classCode=
'OBS'l[@moodCode="EVN'l/valuel@xsi:type='CE'l[@codeSystem='2.16.840.1.11388
3.3.989.5.1.3.2.1.8')/@code

J2.15.r.

AR E

TH H B

MRS K OSMERTESREICRB N T, SAEICBWTHRENEDAR SN TV D5E,
INRIE 27T,
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LT 5

E=— Frbib)p=a— FE8R L CRidid 2 2 &,

MBS DGE . WS SCRE A OFTR UL, ARBRFEH ST OFE Zfi#ld 5 2 &,
7o, SMERFESRS OBG. HEEZIToTTEEZRRT D 2 L

HEHRE IRV T, EEEOBH YR & > TH—OHFEN L SNEE. 1 OO
HELTHE L TELIARY, ZOBRKIINREEZ 1 FRICFEHE L, 0K L ZF]
MLT, ZFAUEICZOMOAREZFLHT D &,

#% B, F—OfENMUE TR SNZHAICE, SEAREICO W CEBINHRET S, £
DOERIZIE, BIEE#RE ORITHT TUZBMREORKRE LT 5 2 &, izmEo
AREPNERD D5 ETHRVBELERRT 5 Z &,

BB, FEOHENENERLGEIT. EEE T2 L,

2A

ISO 31661 7/L7 7-2 DE=— K

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV|rl/controlActProcess|@classCod
e='"CACT']|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'[@moodCode='"EVN'l/reference[@typeCode="REFR'l[docu
ment/code[@code='2'][@codeSystem='2.16.840.1.113883.3.989.2.1.1.27']l[r]/docum
ent[@classCode="DOC'l[@moodCode="EVN'l/participation[@typeCode='AUT'l/assi
gnedEntity[@classCode="ASSIGNED'|/representedOrganization[@classCode="OR
G'l[@determinerCode="INSTANCE'l/asLocated Entity[@classCode="LOCE'l/locatio
nl@classCode='"COUNTRY'l[@determinerCode='INSTANCE!'l/code[@codeSystem=
'1.0.3166.1.2.2'/@code

J2.16 HmENADEN

TH H i A WFFEHRE R O EFEE S O% 6, UimE ORBEOE R 2T,

RUHUT 7L

T — & 5004

WA SR

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess|@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code='"EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'l [@mo

0dCode="EVN'l/component1[@typeCode='"COMP'][observationEvent[code[@code="'
12'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]1[1]/observationEvent[@
classCode="OBS'l[@moodCode="EVN'l/value[@xsi:type='"ED'l/text()

J2.17.r B/ WFIEDLEE
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TH H B

WIS O%E ., THRRRER /78] UL TIERRARGER “BFE ) DRl &R~

RLET A 7L
T—H 1N
FFAE 1= IREER WFIE
2=3FR IR ER WS
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-

org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV|rl/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'[@moodCode='"EVN'l/reference[@typeCode="REFR'l[docu
ment/code[@code='2'][@codeSystem='2.16.840.1.113883.3.989.2.1.1.27']1[r]/docum
ent[@classCode="DOC'l[@moodCode="EVN'|/title/text()

J2.18.1 ZFEMEBA

THH A ICSR D157 Okt & ~7,

RUHUT 5 MANTATEOE NEIE S ER R O & il 2.

T — Al 100d

FFAE SR

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalLocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r]/controlActProcess[@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode="SUBJ'][1]/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'l/subjectOf1[@typeCode='"SUBJ'][cont
rolActEvent/primaryInformationRecipient][1]/controlAct Event[@classCode="CAC
T'l[@moodCode="EVN'l/primaryInformationRecipient[@typeCode="PRCP']/assign
edEntityl@classCode='"ASSIGNED'l/representedOrganization[@classCode='"ORG']
[@determinerCode="INSTANCE'l/name/text()

J2.18.2 ZfEEWA4

HHBH ICSR DZAEHEDEEZZ/IT,

AL A HER LRl D,

T — & 100J

FFAE EREEERE )

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT']|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/subjectOf1[@typeCode="SUBJ'l[cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode='"CAC
T'l[@moodCode="EVN'l/primaryInformationRecipient[@typeCode="PRCP']/assign
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edEntity[@classCode='"ASSIGNED'|/assigned Person[@classCode='"PSN'l[@determ
inerCode="INSTANCE'l/name/prefix[1]/text(

J2.18.3 ZfEFEM

HH A ICSR O=A5# D% 7”7,

RLE A REOHFEROIEETEHT 5,

T — & 100J

FFAE H A FeEL

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@moodCode="EVN'l/subjectOf1[@typeCode='"SUBJ'l[cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode='"CAC
T'l[@moodCode="EVN'l/primaryInformationRecipient[@typeCode="PRCP']/assign
edEntityl@classCode='"ASSIGNED"/assignedPerson[@classCode='"PSN'l [@determ
inerCode="INSTANCE!'l/name/family[1]/text(

J2.18.4 Xf5EA

HHHH ICSR OZAE#H D4 &Y,

RLHUT A HWREOHHER O Z5L#T 5,

T— & 100J

PR EREEEE )

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r]/controlActProcess[@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'[@mood Code="EVN'l/subjectOf1[@typeCode='"SUBJ'][cont
rolActEvent/primaryInformationRecipient][1]/controlAct Event[@classCode="CAC
T'l[@moodCode="EVN'l/primaryInformationRecipient[@typeCode="PRCP']/assign
edEntity[@classCode='"ASSIGNED'|/assigned Person[@classCode='"PSN'l[@determ
inerCode='INSTANCE'l//name/given[1]/text()

J2.19 fE&E1

THH A T E H

AU 5 7L

T— 5 10000dJ

FFAE B A Fl

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV|rl/controlActProcess[@classCod
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e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code='"EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'[@mo

0dCode="EVN'l/component1[@typeCode='COMP'][observationEvent[code[@code="'
13'1[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]1[1]/observationEvent[@
classCode="OBS'l[@moodCode="EVN'l/value[@xsi:type='"ED'l/text()

J2.20 f&% 2

TH H i A THHE A

AU 5 7L

T — & 10000J

FFAE SRR

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT']|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'|[@mo

0dCode='"EVN'l/component1[@typeCode="COMP'][observationEvent[code[@code="
14'l[{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]1[1]/observation Event[@
classCode='OBS'l[@moodCode='"EVN'l/valuel@xsi:type='"ED']/text()

J2.21 f#% 3

HH M T H

RLHUT A 7L

T — & Al 10000d

FFAE H

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r]/controlActProcess[@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code='"EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'[@mo
0dCode="EVN'l/component1[@typeCode='COMP'][observationEvent[code[@code="'
15'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]1[1]/observationEvent[@
classCode='"OBS'l[@moodCode="EVN'l/value[@xsi:type='"ED'l/text()

J2.22 fH*E 4

THH A T E H

AU 5 7L

T — & Al 10000dJ
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FEaE

EREEEERN

XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r]/controlActProcess[@classCod
e='CACT'|[@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1]/investigationEvent
[@classCode="INVSTG'l[@mood Code='"EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'[@mo
0dCode="EVN'l/component1[@typeCode='COMP'][observationEvent[code[@code="'
16'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]1[1]/observationEvent[@
classCode='"OBS'l[@moodCode="EVN'l/value[@xsi:type='"ED'l/text()
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